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Friday, April 4, 2008

--- On commencing at 9:09 a.m.

MR. MILLAR:  Good morning, everyone.  I think we will get started.

My name is Michael Millar.  I am counsel for Board Staff.  

With me today, to my right is Lee Harmer, to my left is Stephen Shields, and we have Fiona O'Connell, Wade Frost, Duncan Skinner, Keith Ritchie and Adrian Pye joining us today, who will be participating to one extent or another.  Some are, I think, here just to observe.

We are going to start with a PowerPoint presentation.  Before we do that, we will do appearances, but just for people who haven't been before the Board very often or recently, we are members of Board Staff.  We are not a Board panel.  So we are going to be going through the technical conference today, which is essentially oral interrogatories, for lack of a better word.

If there are disputes about answers or anything like that, Staff cannot make any rulings.  

If there is a refusal, there's a refusal and people would have to take it by way of motion to the Board, I guess.  


So there are no Board Panel members here to assist us.  We just have to get through on our own.

We will let Mr. Keizer make some opening remarks, and then take us through the PowerPoint presentation, but why don't we do appearances first?
Appearances:


MR. HARPER:  My name is Bill Harper.  I am here on behalf of the Vulnerable Energy Consumers Coalition.

MR. MILLAR:  Just the way the mikes work, there is a little green light on your -- or a green button.  When that light is on, your mike is on.  When it is off, your mike is off.  

MR. REID:  I am Rob Reid.  I am with the Algoma Coalition. 

MR. CASSAN:  Paul Cassan.  I'm counsel for Algoma Coalition.

MR. WRAY:  Chris Wray, Algoma Coalition.

MS. TUER:  Jennifer Tuer on behalf of Great Lakes Power.

MR. KEIZER:  Charles Keizer on behalf of Great Lakes Power.

MR. MILLAR:  Maybe you could introduce your witness panel, Mr. Keizer.

MR. KEIZER:  Yes, okay.  Just in terms of the witnesses today, we have at the -- at the far left as it faces the room is Tim Lavoie, general manager, transmission and distribution, Great Lakes Power Limited.  Seated next to Mr. Lavoie is Mr. Scott Seabrook, regulatory accounting analyst on behalf of Great Lakes Power Limited.  And next to Mr. Seabrook is Mark Faught, business controller for Great Lakes Power Limited.

MR. MILLAR:  Did anyone else need to enter an appearance?  You only need to enter an appearance if you are speaking.  Okay, Mr. Keizer, should I hand it over to you?

MR. KEIZER:  Thank you, Mr. Millar.
GREAT LAKES POWER LIMITED
Presentation by Mr. Keizer:

MR. KEIZER:  What we have done is, in response to the Board's procedural order, the various intervenors and Board Staff have provided to us questions which will help scope this technical conference.

So in an aid and hopefully to aid this technical conference, we have prepared written responses to those questions, which the panel will address.  

We have also taken those questions and organized them in accordance with the various topic areas that those questions raised.  

We have provided to people today a bound document, which -- it contains at each tab the various questions and arranged by topic area, running through from such matters starting at the deferral account, rate design, the RRRP or RRP, income tax, OM&A rate base, the miscellaneous questions and cost of capital.

As part of, we thought, to create some context for people to provide greater familiarity with Great Lakes Power's service territory, as well as some of the issues that emanate from that relating to the use of deferral account 1574, that we would do a short PowerPoint presentation, which will help set that context.

That PowerPoint presentation, I think, will feed nicely into some of the questions that are raised related to the deferral account, particularly account 1574.

It would be, I guess, subject to the -- what the parties' view was, is that we would deal first with that presentation, then deal with the questions that were raised relating to the deferral accounts, and then move on to the other topics, such as rate design and the rural rate protection, and then eventually working our way through all of the topic areas.

So I don't know, Mr. Millar, how you want to proceed with respect to the answers and marking it.  Do you want to mark this as an exhibit?

MR. MILLAR:  Yes, I think we should do that.  

I will call this the materials for the technical conference from GLPL.  We will call that KT, for technical conference, 1.1.
EXHIBIT NO. KT1.1:  MATERIALS FOR TECHNICAL CONFERENCE FROM GLPL.

MR. MILLAR:  This includes the PowerPoint presentation, Mr. Keizer?

MR. KEIZER:  It does include it at tab 1 the PowerPoint presentation that we will hear today.

I guess having had that marked, I think -- I guess the next step is really to begin that presentation, and Mr. Lavoie is going to take us through that.


Then subject to that, any questions emanating from that presentation, and we can proceed into the deferral account questions.
GREAT LAKES POWER LIMITED - PANEL 1

Mark Faught

Tim Lavoie

Scott Seabrook

MR. MILLAR:  Thank you.

MR. LAVOIE:  I understand the PowerPoint is on the laptop up at the front.  Would it be appropriate if I spoke from that seat, and then I can move the slides ahead?

MR. MILLAR:  Sure.
Presentation by Mr. Lavoie:

MR. LAVOIE:  Good morning, everyone.  It is certainly a pleasure to have the opportunity to speak with everyone here today at this technical conference, the Board Staff people who are here today, the intervenors.

I think there are questions that have been raised throughout this application and I think this venue offers a good opportunity for us to discuss them.  This PowerPoint presentation that we put together has given us the opportunity to put some of these issues that have been raised throughout the process so far and give us the opportunity to talk about some context.

So the agenda for the presentation this morning is to give a little overview of Great Lakes Power, to talk about some of the cost drivers and uniqueness with respect to the utility in northern Ontario, to give some context to where Great Lakes Power and its distribution business has been with respect to rate treatments pre-2002 up to present, and to afford some explanations as to what sort of regulatory solutions and considerations that the company has taken since 2002, basically, what GLPL has done, why they did it, and what positive impacts that resulted from it.

MR. MILLAR:  Mr. Lavoie, I don't mean to interrupt you and certainly don't want to get in the way of your presentation.

I do ask that -- much of this, as I sort of leaf through it, does appear to be things that are pre-filed and on the record.  I certainly don't mind you going over them quickly through your presentation, but I would ask that to the extent some of these things are already on the record, if you could go over those more quickly than the others so we'll have plenty of time for the questions that are before the panel.

MR. LAVOIE:  I will do my best.

Great Lakes Power obviously is a large utility with a large asset base that covers a service area -- predominantly we have an overhead radial system with long distances to travel to service the customers and maintain the system.  And we have a high cost per customer with respect to revenues.

The service area in -- to put the context to the service area, it is over 14,000 square kilometres.  We have a vast area to cover.  To give some perspective, perhaps, to the local area here in Toronto is that the service area of Great Lakes Power limited is over twice the area of the entire Greater Toronto Area.  And in context with respect to population, in that area that is twice as large as Toronto there is only 17,000 people that live in that -- in those communities that are in that area, as opposed to over 5 million in the Greater Toronto Area.

Where is the utility?  Where is it located?  It is located in the yellow highlighted area on the eastern shore of Lake Superior.  It travels as far north as Wawa, Ontario, and east of Sault Ste. Marie.

To give some context to, again, the area, the green highlighted areas in the map are other large utilities in Northern Ontario, such as Thunder Bay, Sault Ste. Marie, Sudbury, et cetera.

As I mentioned earlier, we have a high cost per customer on the basis relative to other municipal utilities, and in terms of density, from our system perspective, we have only 6.7 customers on a per-kilometre basis.

What are the things that are driving costs in the utility?  In addition to the vastness of the utility, we have thick vegetation that leads to intensive vegetation management programs.  We are located in the heart of the Canadian Shield of Northern Ontario, which is rugged and challenging with respect to building just about anything, let alone transmission or distribution lines.

We have harsh climates, being on the shoreline of the Great Lakes, and we frequently experience system outages with respect to extreme weather conditions.  Again we have a radial system with long lengths of assets serving few customers.  A few examples here on this screen, are the circuits located where you have very few customers and great distances.  Again, each one of these circuits would be radial in nature.  In other words, an interruption affects all customers typically on these lines.

It does create a challenge with respect to operating the utility.  On top of the challenges of operating the utility in this environment, Northern Ontario has faced significant economic conditions in the last number of years.

To put the characteristics of the Northern economy on this slide, we're talking about an economy that has grown from the resources that existed in that area.  It's typically fairly undiversified.  In other words, there's forest and minerals, which would typically be the driving force behind the resource economy in our particular area, and both of these industries have had boom and bust cycles.  And what we have seen in the past number of years is the booms are a lot lower, and the busts cycles are a lot deeper, leading to a slow and steady overall economic decline.

This has been evidenced and spoken in front of the Board here as recently as in 2005, and in particular with GLPL, the Boniffero Mill Works scenario which clearly indicated the challenges that the economic conditions had and the importance of reasonable electricity rates for the industry.

This trend has continued.  We have a customer, Dubreuil Forest Products, who has expressed hardships in recent times, and certainly we have heard that from others.

Rate increases affect the business and economy, and distributors have to be mindful of these factors in order to make prudent decisions regarding rate changes and applications.  And we believe GLP has done that.

Just another further illustration of a population trend that we have in our largest community that we serve, in the Wawa area between 1976 and 2000, quite a drastic change in population there.

Historical treatment of rates:  I will go over briefly the way GLP operated prior to market opening, the effect of Bill 210 on GLPL's rates and the rural route rate protection that was initiated for the GLP service area in 2003.

In the past, GLP operated as an integrated utility and we operated in a manner that compensated for the negative impacts of its customer density.  In other words, customer density has always been a challenge for Great Lakes Power distribution.  However, in the pre-2000 world and an integrated utility, not all of those distribution costs were passed on to its distribution customers.  In effect, a cross-subsidization was occurring within the utility.

At the time, the rates were bundled for transmission distribution and cost of power.  And under that bundled regime, the utility continued to exist as a privately-owned utility, and it had an established approved rate-of-return of a little over 12 percent in that period of time.

The restructuring in the Ontario electricity market had an impact on the utility, and as a result of the electricity market opening in May 2002, GLPL was no longer able to maintain its historic rate treatment, and we were required to financially separate the business into transmission, distribution and generation.

However, having to do that, the rate-setting mechanism in the original Distribution Rate Handbook clearly indicated that the recovery of distribution costs would be recovered from distribution customers, so in other words, in order to continue to recover the same costs as prior to the market opening, GLPL had to pass those distribution service costs exclusively to distribution consumers.

In other words, we are faced to fully recover those costs.

I think it is important to emphasize here that also that rate filing was based on the year 2000 and at that point the, those costs to run the utility, as I mentioned earlier, the increases that resulted with implementing distribution cost recovery from its customers were independent OM&A costs the utility was incurring.  In other words, it had an established rate base for distribution, OM&A costs, and as I mentioned, return on equity, which was decreasing as a result of the implementation of a lower rate in 2002.

So basically high costs, the high costs of providing service to distribution customers -- they're not able to share those costs with other consumers other than distribution -- led to significant rate increases in 2002.

So based on the 2000 calendar year, GLP produced a pro forma of its distribution business, and the integrated utility was basically separated on a pro forma basis, because in the year 2000 it was an integrated company and had integrated costs.  So the exercise was to pull the business into pieces and present a distribution stand-alone version of what the costs were, but based on the year 2000.

The revenue requirement proposed in the application was 12,718,000, and as a consequence of the rate impacts GLP proposed a mitigation plan through that period of time, up to 2008, that would result in an overall rate increase on a revenue basis.  On a typical customer basis, the rates impacts ranged from 16 to 88 percent.

These were significant rate increases, and in its application, the OEB contemplated that application and its impacts, and implemented an interim order that had significant rate increases, even with GLPL's mitigation plan.

GLP would be surprised if there were any other utilities who were granted interim rates as high as those approved in that application at the time.  And in that application, obviously, was a contemplation of the revenues that the company was having to defer in order to move into this new cost recovery regime, that being with distribution customers only.

Before the OEB can conduct a formal review of the proceeding in order to offer a final rate order in that respect, Bill 210 received Royal Assent, and as a result of Bill 210 all outstanding interim orders in the province were deemed final, and GLP has been operating under a distribution rate order that continued the deferral of its return on equity since that time.

From 2002 to 2003, the rate increases that were approved by the Board created concerns in the area, and that ranged from residential to businesses.  GLP heard those concerns, and particularly, again, related to industries within the area that were being negatively affected by the rates, GLP sought to deal with this rate impact in a way that would help the communities and reduce the impact.  And in 2003, GLP received rural or remote rate protection assistance in the amount of $2.3 million annually, and it was prorated back to the initial order issued in 2002 that reduced the impacts arising from that 2002 order.  

As a result of that implementation of rural or remote rate protection, was -- on a typical basis, the impacts were reduced from a 10 to 64 percent range.

In 2002 to 2005, GLP continued to look for ways that it could reduce -- continue to offer rates that were reasonable, address its revenue requirement deferrals and  -- however, the context of that period of time was that we were in a rate freeze in Ontario.  GLP would have had to increase rates similar to those experienced in 2002.  

We had just come through a time when concerns were expressed from consumers.  We sought the relief of RRRP, rural or remote rate protection, which was granted in 2003, and although GLP could approach the Minister during a rate freeze for further rate increases, it was highly unlikely that a second approach to obtain approval to seek a rate increase would have been successful.

After the rate freeze in 2005, the utility had significant concerns about rate impacts and how it was going to move forward.  Based on the calculations made by the utility at the time and -- which had revenue requirements similar -- revenue requirement calculations similar to what is proposed in our application today, consumer impacts would have been between 60 and 68 percent for the typical residential consumer.  

There is no clear way to effectively mitigate these programs without a perpetual deferral amount.  In other words, to have reasonable rate increases on an annual basis or on some sort of a progression would have led to continual deferral amounts with no end with respect to recovery.  

It was not possible to implement.  In GLP's view, it was not possible to implement or impose the full rate protection -- sorry, full rate impact on those customers.

After 2005, GLP actively sought solutions to resolve this issue.  They looked at alternatives within the context of the Ontario Energy Board's rate-setting methods, and we found no reasonable approach that seemed presentable at the time.

We sought alternatives.  An issue that was raised during our transmission rate case contemplated the deeming of distribution assets as transmission assets under section 84.  It's a question of interpretation, but certainly GLP considered these things as ways of creatively pulling rate impacts away from distribution customers and seeking some further subsidization.

We continued to work on solutions, and, to be fair to ratepayers, a GLP solution was required that was not a temporary Band-aid, as well.  We needed something that was a permanent solution, a permanent regime.  Certainly one of the areas that had been, in GLP's view, a way to do this was through the assistance -- through increased or further assistance from a rural or remote rate protection Program.

This was a significant effort by the utility to go through in terms of trying to determine what way it would implement its future.

In this graph, we have tried to illustrate where the utility's revenues were in 2002 with respect to its original application, and where revenues would have had to go if GLP had come in for rates or requested rate increases to be exclusively borne by distribution customers.  

That cost was significant, of the utility, in terms of foregone revenues.  If I highlight the blue area in the graph that's on this presentation, it illustrates that the company has foregone revenues in excess of $13 million and has not applied for any of that recovery in this application.

We have lived up to the 2002 application, and we have had significant patience and produced significant efforts to determine a solution for our customers in the distribution area.

What would have happened if GLP had come in earlier?

Well, as I mentioned earlier, the mechanisms that are in front of the Ontario Energy Board, in GLP's belief, are ones that pass the costs of distribution service on to customers, and if we had come in for rates in 2005, GLP would not have foregone as much revenues, but the customers would have paid a hefty price.

We could have requested rates to increase and we could have impacted the economy in the local area, and we believe the utility, by prudently waiting and trying to work toward a solution that was best for both the customers and the utility, was the best alternative and that is the direction that we chose to do.

The consequences, as I mentioned earlier, was a significant price paid by GLP to find a solution that was in the interests of everybody.  However, we believe that this application has allowed the customers to partially defer the revenues that we requested in the original application in 2002, and, most importantly, gained with a permanent rate regime that allows reasonable rate impacts to the consumers in the area and the utility to continue providing the service that it has for the last 100 years.

Thank you.

MR. KEIZER:  If Mr. Lavoie, I guess, could then rejoin the panel, we could --

MR. MILLAR:  Sure.

MR. KEIZER:  -- deal with addressing some of the specific questions.  Mr. Millar, just for clarification --

MR. MILLAR:  Yes.

MR. KEIZER:  -- would you like as we go through this -- this is I guess more an administrative question.  Would you like the party who is answering the question to read the question into the record, or how would you like to deal with it?

MR. MILLAR:  I guess, to the extent that is feasible, that is probably helpful for people reading through the transcript later.  It strikes me that none of the questions are so long that is impractical.  So why don't we try that?

If it bogs down, we will reconsider, but that is probably the best way to go forward.

MR. KEIZER:  We considered that as a kind of a natural follow-on to the presentation that Mr. Lavoie did was to try to address the deferral account questions first and work our way through those.  So subject, I guess, to any questions that may be arising from Mr. Lavoie's presentation, which I assuming you can ask in this segment anyway, we thought we would then proceed on with the questions relating to the deferral account.

MR. MILLAR:  I don't know about the other parties.  I had a few questions from the presentation, but they probably make sense to ask when we get to the specific issues to the questions.  Does anyone have a burning desire to ask questions right now?  

Mr. Cassan, you're okay?  Okay, why don't we proceed that way.
Questions on Deferral Accounts


MR. KEIZER:  I guess with that, then what I will do is, dealing with -- maybe I will take the onerous job of reading the question in, and then turn it over to the panel to ask.

The first question, which is at tab 2 of Exhibit KT1.1, is the Board Staff Question No. 3(a), which reads as follows:
"GLPL has stated that the Board implicitly approve the use of account 1574 to record accounts related to a rate mitigation plan in its interim decision dated May 13, 2002.  Does GLPL rely on any additional evidence or argument in support of its argument that the Board has approved the use of account 1574 for this purpose?"

That's the end of the question.  So turn it over to the panel.

MR. LAVOIE:  We have detailed response -- a lengthy response.  I think I will try to move through some of the salient points that we have made in the answer, and maybe that's the best way to move.

GLP's 2002 application proposed distribution rates that were premised on a proposed mitigation plan.  By approving the rates in its interim decision in May of 2002, the Board implicitly approved GLP's mitigation plan.  As I mentioned in the presentation, those rates at the time were significant, and it's GLP's belief that the Board had to turn its mind in order to make that decision, and implied within the application was the rate mitigation plan proposed by the company.

Again, as I mentioned in the presentation, that order became final as a result of Bill 210.  And further, that the mitigation account 1574, which the amounts were recorded in, that we explained in the interrogatory 39(b), GLP did not require Board's authorization to use that account.

Further to that, the use of the account 1574 had a mention in Bill 210 with the fact that the regulatory asset accounts, including 1574, were deemed regulatory assets at the time.  And we have illustrated from Bill 210 where that reference comes from.


We utilized the account in order, with specific reference to the definition in the Accounting Procedures Handbook, where in the definition of the account that was in place at the time and the Uniform System of Accounts, that this deferral account 1574, its definition:
"Can be used to record amounts equal to rate impacts associated with market-based rate-of-returns, transitional costs and extraordinary costs the utility has determined to be excessive."

Paragraph A allows the distributor to record amounts equal to rate impacts associated with market based rate-of-return, and GLP used that account for that very purpose.

Then the mitigation strategy:  GLP deferred the recovery of an amount equal to its return on equity to avoid significant bill increases that resulted from the elimination of that subsidization that I mentioned earlier, that existed with the integrated utility prior to market opening.

And therefore we used that account appropriately, as described in paragraph A.

MR. MILLAR:  Can I just ask a quick follow-up question?  I note you said that you used that account to record your market-based rate-of-return.  As you went through your presentation, I thought you indicated it was more than that, that it was the market rate, the MAR plus taxes, I think.  I can't find it here.  It wasn't just the MAR, was it?

MR. LAVOIE:  I think the easiest way to explain that would be that in the inclusion of a net income for purposes of rate-making, you need to include a gross-up for income taxes and, therefore, it's a mathematical result of the inclusion of a return on equity.

MR. MILLAR:  Okay, thank you.  I'm sorry, are you finished with the answer?

MR. LAVOIE:  Yes.

MR. MILLAR:  I think we are going to take a group approach here.  Mr. Frost had a follow-up question for you.

MR. FROST:  You said that the Board, when they went through the schedule, they were implicitly approving the rate mitigation plan when they gave the interim decision and order on May 13th, 2002.

I understand that GLPL actually sought to have the new rate schedules take effect upon the date that subsection 26.1 of the Electricity Act, 1998 came into force.  It's actually written into that decision.

Could you explain that?

MR. KEIZER:  Do you have a copy?

MR. FROST:  I have a copy of the decision.

MR. KEIZER:  Sorry, this is I --

MR. FROST:  This is a copy of the interim decision and order.

MR. KEIZER:  Okay.

[Mr. Frost passes document to Mr. Lavoie]

MR. KEIZER:  Sorry, Mr. Frost.  Can you just direct Mr. Lavoie --

MR. FROST:  It's on the second page of the decision, interim decision from 2002, issued on May 13th, 2002.  Sorry.  They have my copy, so I don't know the number.

MR. MILLAR:  It's the interim rates decision, Mr. Keizer, from 2002.

MR. KEIZER:  Do you have it in front of you, Mr. Lavoie?  Maybe you can pose the question again.

MR. FROST:  My question is, in the interim decision itself, it says GLPL sought to have new rate schedules take effect once that section of the Electricity Act came into force, which I believe was May 1st, 2002, which the interim decision makes the rates effective of.

And the applicant filed on March 28th, so it was a very quick turnaround.  So why was GLPL requesting new rates so quickly to make itself, I guess, compliant with that section of the act?

MR. LAVOIE:  Again, I think this may be something I didn't address in the context of the presentation, but I think I did allude to the fact that the utility had operated in an integrated basis, and there were certainly a lot of questions and a lot of process that the utility had to take upon itself in order to determine, A, did it need to participate in this new marketplace the way it had contemplated how it was going to operate its business in the future, and therefore, it took upon a significant effort to determine itself, in terms of how it was going to participate as a licensed distributor, transmitter and/or generator at that point in time.

So it was one of the steps along the way in order to achieve a full unbundling of the business, and it did it as expeditiously as it could, but at the time it was, I believe, like you suggested, March --

MR. FROST:  May 1st.  So you're saying you needed the new rates May 1st to unbundle the generation, transmission, distribution rates from each other?  Is that what you're saying?

MR. LAVOIE:  I mean as an integrated utility the company did not have distribution rates on a stand-alone basis.  We could not unbundle them like any other municipal utility in the province.

MR. MILLAR:  If I could just ask a follow up to that, that was in fact a legal requirement of the Electricity Act, was it not, that you have unbundled rates by May 1st?

MR. KEIZER:  I believe it was, yes.

MR. MILLAR:  I guess the follow-up question, could one not view the purpose of those interim rates as to bring GLPL into compliance with the act?

Maybe that is not an appropriate question for a Technical Conference.  So --

MR. FROST:  Something to think about.  I have another question on this implicit approval.  

Are you saying that the Board -- you're saying that the decision implicitly approved the rate mitigation plan.  So you are saying it also implicitly approved your revenue requirement, including your full cost of service with this decision?

MR. LAVOIE:  Yes.

MR. FROST:  Thank you.

MR. MILLAR:  I think I have a couple of follow-up questions.

You state that with regard to account 1574, no Board approval is required.  You did, in fact, ask for a deferral account for the mitigation plan.  If an approval is not required, why was a deferral account requested?

MR. KEIZER:  I think that, subject to confirmation by Mr. Lavoie, I think the issue is just out of ordinary-course prudence.  When you develop an application, you typically put in a request for a deferral account, to the extent you are seeking any kind of deferral.

MR. MILLAR:  Out of an abundance of caution?

MR. KEIZER:  Yes.

MR. MILLAR:  Is that the reason?  Okay.

If we look at the description of account 1574. I am not necessarily disagreeing with you.  I really am just looking for some further information on this.

I take it, it is your position that this rate mitigation plan falls under point A, whereas only point B requires explicit approval from the Board to create that account.  I've that right?

And you stated that you have used 1574 for your ROE, essentially, with the gross-up for taxes?

MR. LAVOIE:  That's correct.

MR. MILLAR:  You are quite right that (a) does say that the account can be used for rate impacts associated with MARR, but then (b) also references MARR, and I'm wondering - it may be a question for Mr. Keizer - if you can help me, because, actually, I do have some confusion about this.  (b) says:
"When authorized or directed by the Board, this account shall be used to record the difference between the rate of return reflected in the rates and the market-based rate of return."

Is that not what has been put into 1574?

MR. KEIZER:  I think it's kind of things that converge, because you will see, I think, from one of the further questions related to 1574 where the discussion about -- relating to, Why is this something the same or similar to MARR?

I think one of the -- the question revolves around that what got deferred was they had to reach -- my understanding was they had to reach a point of a rate with a rate impact that would at least be workable, and to the extent that they reduced it to a point where the cost of service was to be covered, they would then be able to try to defer whatever else, but at least cover their costs.

So subject to confirmation from the panel, the choice was, How do we actually get to that point?

It wasn't, you know, How do we, you know, deal with our market-based rate of return relative to, you know, a return reflected in rates.  It was more, What are we going to be able to reduce this by to actually get to a point where we can actually put in place appropriate mitigation regime, and also deal with the solvency of the division.

But I think there is a question later on that may provide greater clarity with respect to that.


Is that fair, Mr. Lavoie?  Is that a fair characterization?

MR. LAVOIE:  That's fair.

MR. MILLAR:  Maybe we will follow up further after that question.

I take it that GLPL doesn't dispute that, assuming your interpretation of 1574 is correct, the prudence of what has gone into that account has not yet been reviewed?  For example, when it comes to clear these accounts, the Board is still entitled to do a prudency review of what you have actually put in that account and how it will be disposed of?


MR. KEIZER:  I guess that is subject to interpretation of what we mean in the circumstance.  A lot of this revolves around interpretation, obviously, and the issue of prudence is not necessarily something that would happen in the normal course where, Have you expended the dollars in an appropriate way?

I am assuming prudence in this case would be related to the fact that -- how it was calculated, and does the calculations correspond to what the account actually contains?

Given the fact that it is all being kind of wrapped up within the context of a final order that has, you know, legal significance in its own right in terms of the fact that it has a finality to it, in terms of a lot of the components that would go into that calculation are kind of frozen in time because of the final order.

MR. MILLAR:  Fair enough.  But I take it you are not saying the Board has no choice -- you put the money into the account.  If you are correct, you were permitted to put that money into the account, but I don't think you are also saying the Board has no choice but to dispose of it as -- except in the way that you request.

MR. KEIZER:  I think the Board has the -- as a regulator, has an ability to understand the amounts that have been put in the account, how those amounts were calculated, and, you know, how they were recorded and whether or not they have been recorded in appropriate accounting principles or whatever else associated with that.

MR. MILLAR:  Is it just a mathematical exercise, or, for example, the revenue requirement upon which this 2.2 million, approximately, is based, the gap, that was never actually approved by the Board?  This is not to say you had the number wrong, but the Board has never looked at whether or not your revenue requirement in 2002 was actually whatever it was, 12.8 million, or somewhere around there.


MR. KEIZER:  I guess that's the issue, and that's emanating into the issue about what it means to have a final rate order and the fact that this is wrapped up within the context of a final rate order.

If in the course of that prudency review you are going to go back and reassess at the time what the revenue requirement was, then the question is:  Is that really -- is that retroactive rate-making?

To the extent that this is a double-edged sword, to some extent.  Bill 210 wasn't a very kind piece of legislation to anybody, and so the implications are that, to some extent -- to the extent that GLPL has had to live with a final rate order, I think the regulator has to be subject to live with that final rate order, as well.

I mean, I don't think it has to -- it cuts both ways, the implications of Bill 210.

MS. NOWINA:  You are actually trying to claw that money back from the final rate order, are you not?

MR. KEIZER:  I am not quite sure I understand what you mean.

MR. MILLAR:  Well, you were recording the difference between your actual revenue requirement and what was approved by the Board for all of that time.  So if you are successful, you actually would recover your full revenue requirement for those years.  I shouldn't say full revenue requirement, because you are stating it went up over those years, but your revenue requirement as it was in 2002.

MR. KEIZER:  Well, I think that -- again, the application contemplated that full amount of revenue requirement to be, as I recall -- again, I look to the panel to confirm this characterization, but that the full amount of the revenue requirement was sought in the application.

The implication is that that full amount of the revenue requirement could not be absorbed within the context of the rates without some form of mitigation.

So, as a result, there was a deferral of that revenue requirement.  There wasn't -- like, there wasn't one revenue requirement approved, and then another revenue requirement.  There wasn't two revenue requirements.  There was one that was applied for, and it's reflected in rates in the argument and the position put forward by GLPL, and both the amount up to the -- that is reflected in rates, plus the amount that is deferred.  So there was one revenue requirement.

MR. FROST:  I have a follow-up question.  It's partly -- I am not waiting, because you said on Board Staff 3(c) to see the PowerPoint.  Since we are talking about revenue requirement, I think it is an appropriate time to bring this in.

Your rates during this time period did change when you received RRRP.  According to your presentation, you received 2.3 million in RRRP, and you adjusted your rates retroactively back to 2002; am I correct?

MR. KEIZER:  All of which was done pursuant to the ministerial -- basically at the direction of the Minister.

MR. FROST:  Yes, the Minister directed the Board to implement a new rate schedule, am I right, in 2003?

MR. KEIZER:  Yes.

MR. FROST:  That order says the amended rate schedule is based on a total revenue requirement of 9.8 million, including rural and remote rate protection of 2.3 million.  So why are you saying your total revenue requirement is 12.7?

MR. KEIZER:  Actually, I will have to go back and look at the order.

MR. FROST:  Do you want the decision and order?

MR. KEIZER:  I think we have it available, but if we could actually have a look at it, and then come back either...

MR. MILLAR:  We can come back to that question, if you would like some time.

MR. KEIZER:  We would prefer to be able to come back to the question.

MR. FROST:  That's fine.

MR. HARPER:  Michael, if it helps, I think a number of the rate orders that have been referred to are actually in the application or actually were filed in response to one of the interrogatories that we asked, including the 2002 rate order that was referenced earlier, if other people want to find it in the materials.

MR. MILLAR:  Yes, thank you, Bill.  I think they are all there.

Should we move on to the next question, maybe?

MR. FROST:  Yes.  I can wait.

MR. MILLAR:  Did you want to proceed with the next question, Mr. Keizer?

MR. KEIZER:  Yes.  Let's proceed to the next question and we will come back to that issue.  Hopefully I will have an opportunity at the break and the panel can deal with it.

MR. MILLAR:  Yes, that's fine.

MR. KEIZER:  There was a series of sub-questions with Board Staff question 3(a), so this was Board Staff question 3(a)(i):
"Why did GLPL not adjust the amount booked into account 1574 for the tax gross-up component of deferred revenue requirement to account for tax changes in the 2002 to 2007 period?  For example, in 2006 the tax rate was not 38.62 percent."

MR. SEABROOK:  I guess this goes back to the argument that we have been speaking of so far on the implicitly approved revenue requirement.

It was GLPL's opinion that that revenue requirement was approved and that that tax portion was a part of that revenue requirement, and, therefore, they have recorded those amounts.

MR. MILLAR:  Thank you.  I don't think we have any follow-up on that.

MR. KEIZER:  The next question related to Board Staff No. 3(a)(ii):
"Why did GLPL not adjust the amount booked into account 1574 for a revised return on equity component..."

Which is in parentheses:
"(as per the 2006 EDR of deferred revenue requirement to account for changes in 2006 and 2007 periods)."


MR. SEABROOK:  Again, this refers to the implicitly approved revenue requirement.  It was part of the revenue requirement, and for the same reason we didn't adjust other parts of the revenue requirement, we didn't feel the need to adjust the ROE portion.

MR. FROST:  I presume that is the same for the deemed return on debt?

MR. SEABROOK:  That's right.

MR. FROST:  Okay.

MR. MILLAR:  Thank you.

MR. KEIZER:  There was also third part to 3(a)(iii):
"Please provide an Excel spreadsheet accounting for the changes outlined in questions (i) and (ii) detailing the impact of a revised return on equity component and tax gross-up on account 1574 for the period 2002 to 2007."

MR. SEABROOK:  The table has been provided based on the request.

MR. FROST:  Could you forward the live Excel spreadsheet and put it on the record?

MR. SEABROOK:  Yes.

MR. FROST:  Thank you.

MR. MILLAR:  I guess we will give that an undertaking.  J is the undertaking letter, and T for technical conference, so it will be JT1.1, and that is to provide the live Excel model that underpins the chart produced for Board Staff question 3(a)(iii).
UNDERTAKING NO. JT1.1:  GLPL TO PROVIDE A LIVE EXCEL MODEL THAT UNDERPINS CHART PRODUCED IN BOARD STAFF 3(a)(iii)


MR. MILLAR:  Did I get that right?

MR. KEIZER:  Yes.

MR. HARPER:  Michael, would it be reasonable for us to interject if we have a follow-up on the same questions.

MR. MILLAR:  I don't have any objection.
Questions from Mr. Harper:


MR. HARPER:  I was just wondering, sort of from a continuity perspective, so I can connect it back to the evidence, would it be possible for you to advise us what is the equivalent number for the 14,445,599 that you are actually applying for in your current application?  So we can, you know, make sure if we're looking for it, we're comparing apples to apples.

MR. SEABROOK:  Just bear with us for a moment.

MR. HARPER:  Sure.

MR. KEIZER:  Are you asking as a question or a supplemental to the undertaking?

MR. HARPER:  I don't care what you call it.

MR. FROST:  In your Excel spreadsheet, just put what you are requesting as well, and that way you just have a couple of extra columns, so everyone could just look and compare.

MR. KEIZER:  I don't mean to cause confusion.  Is your question, Mr. Frost, then, --

MR. FROST:  I am just trying to help Mr. Harper get what he needs, or -- I want to make sure we're not duplicating efforts if it is the same thing.

MR. FROST:  I believe Mr. Harper wants the calculations for your request on the Excel spreadsheet, which is, I believe, 18 million at the end of 2007.

MR. SEABROOK:  If I can refer you to Exhibit 9, tab 1, schedule 5 of the original filed evidence, the estimated accrual for the same period was 15,635,952.

MR. HARPER:  Fine.  That answers my question.  Thank you very much.

MR. MILLAR:  So we won't supplement the undertaking.

MR. KEIZER:  Great.

MR. MILLAR:  Anything more, Mr. Harper, on this question?

MR. HARPER:  No.  Thank you very much.

MR. MILLAR:  Okay.

MR. KEIZER:  Board Staff question 3(a)(iv):

"Per the response to Board Staff interrogatory 39(a), please provide the supporting calculations for the 1,164,484 debit into account 1574."

MR. FAUGHT:  The supporting calculation is shown in the table in this response.  I'll just walk through it quickly.  Eight twelfths of the 2002, 1574 accrual -- that amount being 2,891,000 -- and the eight-twelfths come from the start of market open, May 1st through December 31st, so eight-twelfths of the year, at a balance of 1,000,927, adjusted for the pre-market opening revenues that are described in the interrogatory response to 39(a), for a net of 1,164,500 booked to the account.

MR. MILLAR:  Just one second.

MR. FROST:  The pre-market opening revenues, is that because you were on a cash basis or...?


MR. FAUGHT:  That's correct.  Moving from the cash basis of recording revenues to an accrual basis.

MR. FROST:  Okay.  Thank you.

MR. KEIZER:  The next question is Board Staff 3(b).  The first is:
"What are the precedents for inclusion of revenue relief?"
And then with a (i), part one:
"Bill 210 did not allow the Board to complete a full review and give final approval on GLPL's 2006 rate application, including the mitigation plan.  Bill 210 also prevented GLPL from obtaining Board approval to increase its rates in 2003 and 2004, as per the mitigation plan.  Please explain why this impact of Bill 210 is different from the impact of the delay in the phasing in of MARR from municipally-owned utilities, which was similar to a rate mitigation plan which was also stopped by Bill 210."

MR. LAVOIE:  Some background into the market-adjusted rate-of-return for municipal utilities:  That arose as a result of the directive of the Minister of Energy, Science and Technology in June of 2000, where the Minister directed that exclusively to municipal utilities, and it is a defined term which does not apply.  That definition does not apply to Great Lakes Power Limited.  

Pursuant to that Board Decision, RP-2000-0069, and as reflected in the then Distribution Rate Handbook, the municipally-owned utilities were required to comply with the prescription of the methodology to phase-in the market-adjusted rate-of-return.

In other words, this was a new cost that was going to be passed on to utility consumers that had not existed before.  But unlike municipal utilities, Great Lakes Power as an investor-owned utility had been earning a rate-of-return prior to market opening, as I indicated in my presentation, and was not subject to the MARR phase-in and it was eligible to earn its full rate-of-return of 9.88 percent.

As a result, it was not required to accept the rate-of-return reflected in rates that was lower than the full rate-of-return, and as a consequence of the Board-prescribed process, as part of its mitigation plan, GLPL on its own initiative deferred its return and reduced rates by an amount equal to its rate-of-return.

In other words, the equivalent to the reduction, or the equivalency to a market adjusted rate-of-return is simply coincidental upon the company choosing to pick the same amount, the amount equal to its return on equity.

So furthermore, under the MARR phase-in, in return for foregone revenues by virtue of the regulatory regime governing the phase-in plan, but GLPL, pursuant to its plan, deferred, did not forego, its return.

The purpose of the MARR was to deal with new costs arising from additional revenues for municipal utilities arising from earning a return.  For GLPL there was no phase-in of additional revenues, since there were no new costs in its revenue requirement for the utility associated with the return.  In fact, the rate-of-return was actually decreasing.

The choice to reduce revenues by an amount equal to ROE was made by GLPL, and had no relation to the MARR process.  And this was a decision made to be the highest possible reduction in revenues, to ensure the company's distribution business would remain solvent.

MR. MILLAR:  Thank you.  I don't think we have any follow-up to that.

MR. KEIZER:  The following is Board Staff question 3(c) which had a series of parts to it.

I think, as you see from the response that has been provided, that the feeling was that the PowerPoint presentation would deal with the answers to those.

I guess this is one of the rather lengthy questions.  So maybe I will paraphrase what the question is asking, rather than reading it in verbatim, if that is acceptable to everybody.

In effect, the question relates to:  Did the GLPL consider bringing account 1574 to the Board to clarify the status of the account prior to this application?  Why did it not do so?

And then it relates to a series of subquestions about when they were -- rates were revised on July 11, 2003:
"Why was the next stage of GLPL's rate mitigation not implemented as per the 2002 application?"
"Beyond the rate order issued on July 11th, did GLPL ask the Minister for written approval to make a new application to the Board under section 78?  If not, why not?  
"Why did GLPL not submit a new cost-of-service application to set new revenue requirement rates and rates in 2005 to eliminate the amount being booked in 1574 when 210 was repealed?"
"Why did GLPL not submit an application in the 2006 EDR rate-setting process?"

So actually, maybe, Mr. Lavoie, I think there are -- our answer given for Great Lakes is that it is related to the PowerPoint presentation.

If it is helpful, then maybe you could point to those areas of the PowerPoint presentation that would provide some response to these series of questions.  Is that fair to do it that way?

MR. MILLAR:  That's fine.  I think we have seen the PowerPoint presentation.  I think I know what you are talking about.

MR. KEIZER:  So we don't need to.

MR. MILLAR:  I don't think that is necessary, unless another party does.  I do have a couple of follow-up questions.  Mr. Frost has already asked one question, and I understand GLPL is going to confer on that and perhaps after a break come back with a response.

So if you want to defer any of these questions, as well, you can let me know and we will deal with them all at once.

But, again, with regard to the 2003 rate order that came from the ministerial directive, that in fact lowered rates, did it not?

MR. LAVOIE:  That's correct.

MR. MILLAR:  And although the rate mitigation plan isn't really discussed, it says it is a complete revenue requirement of 9.8 million.  I know you are going to get back to us on that.

Why would you lower rates when you have an account building up of deferred -- of amounts deferred from ratepayers?

MR. LAVOIE:  I think, in relation to what I spoke of earlier, we're talking about a period of time when there was great concern about the rates that had been approved in the Board's interim order, and seeking relief from those rates was the task at hand during that period of time.

To look any further at a disposal of an account that had been accruing, in certainly the company's mind, and I'm sure the Minister's mind, with respect to implementing RRRP at the time, was certainly not going to be considered.

MR. MILLAR:  I'm not necessarily talking about disposing of the existing account, but the account kept getting bigger, did it not, because of this rate decrease?

MR. LAVOIE:  No.  Actually, no, the rate decrease was -- the decrease was only related to the implementation of rural or remote rate protection, so it was equivalent to that.  So there was no difference with respect to the recovery of revenues from rates, plus RRR -- the RRRP program as prior to that.  In other words, it would have been equivalent to the revenue stream that the company had been receiving from...

MR. MILLAR:  There was no difference in the rate of growth in 1574, but 1574 continued to grow every year?

MR. LAVOIE:  At the same rate, yes.

MR. MILLAR:  At the same rate?

MR. LAVOIE:  That's correct.

MR. MILLAR:  You came forward with a rate mitigation plan as part of your 2002 application.  As I understand it, at that time you were proposing to -- it would get smaller every year, the -- not necessarily the balance.  I could be wrong on this.  But the amount going into 1574 would get smaller in 2003, and then 2004 and I think 2005; is that correct?

MR. LAVOIE:  That was the schedule that had been provided in the application for illustrative purposes, and I think, if I recall, the -- it did not explain the process by which that amount accrued would be getting less.

In other words, the only way it would get less would be to have a decrease -- an increase in rates and a decrease in the amount accrued, because that schedule is -- maybe I will just point to it so it is clear.

It's in Exhibit 9, tab 1, schedule 5, page 4 of 6.  It clearly indicates that a revenue requirement remains unchanged, but because rates reflected a lower recovery, it implies, in the schedule, that an adjustment to rates would be required in order to reduce the amount booked in that account.

So that's why you are seeing what you're seeing in that schedule.

MR. MILLAR:  So your rate mitigation plan was not continued past 2002; is that correct?  Certainly the 2003 rate order does not reflect your original rate mitigation plan?

MR. LAVOIE:  It properly reflects the start point, which is the 2002 column on this schedule, and so I think it does properly illustrate, in the context, of course.  With Bill 210, the freezing of rates, it would certainly be hard to move 2003 or 2004.

MR. MILLAR:  Your original plan was to get up to your full -- to recover your full revenue requirement from ratepayers in three or four years, something like that?

MR. LAVOIE:  That's correct.

MR. MILLAR:  You don't get any closer to that through the 2003 rate order?

MR. LAVOIE:  No.

MR. MILLAR:  Okay.

Again, with -- this more gets to point 3.  Mr. Frost may have a couple of follow-up questions.  I'm not sure.  But if I get to (iii), 3, from 2002, and then with the 2003 rate order -- and, in fact, I have heard your explanation as to why in 2005, 2006 you didn't come forward with a rate application.

1574 just continued to grow through that time; right?

MR. LAVOIE:  It continued to grow, yes.

MR. MILLAR:  And I guess you had already received some RRRP funding, 2.3 million, from 2003; that's correct?  You started getting your --

MR. LAVOIE:  We started to receive RRRP funding when the new rate schedule was implemented in 2003, yes.

MR. MILLAR:  Even with that, 1574 continued to grow every year by two-point-some-odd-million dollars?

MR. LAVOIE:  In accordance with year 1 of the mitigation plan, yes.

MR. MILLAR:  Did you have a backup plan?  What would have happened if your RRRP amounts hadn't been increased by this regulation?  It seems to me that sooner or later you would have had to recover this from your ratepayers.  Is that the...

MR. LAVOIE:  Yes.  And I think that is certainly the point that I tried to make with the presentation, is that clearly the company was at a significant decision point in terms of what was it going to do and how was it going to approach it.

And the efforts that we put forward were certainly extensive and exhaustive with respect to, What ways are we going to provide this, continue to provide this distribution service, recognizing that cost to deliver service in this area was exceeding what was, very apparent to the company, rates that the ratepayers could afford to pay?

So it was an effort to determine different solutions.  We had considered alternatives which were quite creative.  However, it certainly wasn't in the context of a traditional cost allocation to distribution-only customers.

MR. MILLAR:  You don't actually -- you can't determine how much RRRP funding you get; right?  That's a decision of the government?

MR. LAVOIE:  It's by virtue of regulation.

MR. MILLAR:  So you can request that, I guess, but you don't actually control whether or not you get it.  That is ultimately a government decision?

MR. LAVOIE:  That's our understanding.

MR. MILLAR:  And I guess, fortunately for you, you did receive an increase -- a significant increase in RRRP spending.  You spoke about some other things that you had looked at, but, again, maybe you could be a little more specific.  Had you not gotten this large increase in RRRP, what was your fallback plan to recover all of these amounts?

MR. LAVOIE:  We had consulted, on a number of bases, with experts in the industry, and what our fallback plan was, as I alluded to in the presentation, was looking at a creative way to allocate costs between -- out of distribution pool and look for a way of deeming distribution assets and recovery of the costs of either parts or all of our distribution system through a transmission -- transmission tariff or transmission application.

That was probably the most certain fallback plan that we had.

MR. MILLAR:  Thank you for that.

That -- presuming you had been successful with that, that would have helped on a going-forward basis, but it wouldn't have dealt with the amount that was actually already booked to the account; is that fair?

MR. LAVOIE:  I think we were prepared to deal with it in some sort of recovery, whether it would have been a proposed recovery in a shared context with that approach of deeming assets, or some sort of recovery like we're proposing here today.

MR. MILLAR:  Just to follow up on that a little bit, would you have proposed that 1574 somehow be paid from the transmission side had you been successful in deeming these as transmission assets?

MR. LAVOIE:  I'm not sure if I recall exactly what we were thinking at the time, but certainly it wouldn't be unreasonable, I think, to present a plan similar to what we're asking for today, a long recovery of this, against the distribution customers.

MR. FROST:  Just very quick.  You said in your presentation that you thought it was unlikely that a second approach to obtain approval to seek a rate increase would have been as successful.  So I am presuming from that statement you did not approach the Minister as part (ii) of the question?  You didn't?

MR. LAVOIE:  I mean I guess I can say that we certainly had had a number of discussions in that period of time with the Ministry of Energy, and certainly that was always a topic that we talked about.

MR. FROST:  Right.  But you didn't formally apply for -- that's all I'm asking.


MR. LAVOIE:  No, we did not formally apply.

MR. MILLAR:  If I could follow up on that very quickly.  I thought in your presentation, you said it would be inadvisable to go back to the Ministry twice for changes in rates through the rate-freeze period; is that right?

MR. LAVOIE:  That's right.  I mean certainly, again, in that context, the company had faced significant concerns from customers about the initial rate increases that occurred in 2002.

The relief that was sought through the RRRP program certainly was, in our view, request for treatment of recovery that was outside of distribution.  And to come back with a request to basically have rates that would have been quite likely higher than the rates that we had initially set out in 2002 seemed counterintuitive to the company, from the context of what the customer concerns had been at the time.  And certainly, we would have believed that the Minister, at the time, would have viewed it very similarly.

MR. MILLAR:  Well, they wouldn't have actually had to be higher rates than 2002, right, because you got a decrease in 2003?

MR. LAVOIE:  Yes.  But I mean, if you were to implement an increase sort of equal, you would have had rates that, let's say for argument's sake, were equal to the rates that had been in the original application.

In our view, the result would have been exactly the same result that occurred.  In other words, great concern about the rates, and we're basically in the same position we would have been a year earlier.

MR. MILLAR:  I understand.  Thank you.  Thank you for that.  We don't have any further follow-up on that question.

MR. KEIZER:  Board Staff 3(d) is the next question:
"Please explain why GLPL did not historically record qualifying transition cost amounts in account 1570, in the trial balance."
And then a reference to 217.

MR. FAUGHT:  The transition costs were incurred in 2001 and 2002.  From an accounting perspective, GLPL was not comfortable recording in a regulatory asset account and making representations to an external auditor with respect to that account when it was not clear, at that time, whether GLPL would participate in the market opening, and be a licensed distributor.

MR. MILLAR:  Thank you.

MR. KEIZER:  The next question is Board Staff question 3(e):
"Please provide details regarding the cost drivers for the balance of 155,993.75 in account 1508 and what period it covers.  Has this balance been independently audited?"

MR. FAUGHT:  The balance in account 1508 was recorded for the OEB cost assessments deferral.  As prescribed in the Accounting Procedures Handbook, GLPL's recorded the variance between the OEB cost assessments invoiced for 2004 and 2005, in the amount previously included in rates.  GLPL previously had no provision for OEB cost assessments in rates, and, therefore, the full amount of the cost assessments for 2004 and 2005 were accrued in account 1508.

This balance has not specifically been audited.  However, it has been audited annually by our external auditors, and included in the distribution audited financial statements.

We have set out below a table that illustrates the calculation of the 155,993.

MR. MILLAR:  Thank you.
Questions on Rate Design / RRRP:


MR. KEIZER:  That completes, as we understand it, the Board Staff questions with respect to the deferral accounts.

The next question was submitted by VECC, and the question is:
"Given that the unbundling study was undertaken to meet the requirements of the OEB with respect to unbundling rates, please explain why the costs of the Navigant study were assigned to the retailer/customer category as opposed to either the regulatory costs or regulatory requirements."

MR. FAUGHT:  After reviewing the categories in article 480 of the Accounting Procedures Handbook, GLPL has determined that both the incremental salaries associated with the addition of resources and the Navigant study could potentially be classified in the regulatory requirements category.

It is our opinion that this is a matter of interpretation.  The two costs mentioned are related and should fall into the same category, be it retailer/customer requirements, or regulatory requirements.

MR. HARPER:  Thanks.  The one follow-up question I had was with respect to the comment that you had that the two costs are related.  Maybe the easiest way to clarify that would be to comment on what were the activities involved with the additional salary costs that were the other components of that booking, beside the Navigant study.

MR. FAUGHT:  Sure.  We allocated a portion of a salary that was brought in to offset existing salaries that were, I guess, for lack of a better term, reallocated to working with Navigant on this particular study.

MR. HARPER:  Okay.  So really it was by backfill for existing staff that were really working with Navigant on the same study.  So it is all part and parcel of the same activity?

MR. FAUGHT:  That's correct.

MR. HARPER:  Okay, thank you.

MR. KEIZER:  The next question is VECC 5.1(b):
"Please confirm that none of the meters for which costs are included in the wholesale market requirements category are included in GLPL's rate base or in the charges levied against GLPL distribution by its meter service provider."

MR. FAUGHT:  The amounts are currently recorded in rate base, until the Board determines whether or not that these will be approved for account 1570 as a part of this proceeding.

Once approved, GLPL will transfer these amounts from rate base to account 1570.

Just as a note, these amounts are not included in the approved rate base of the distribution division, as the costs were received after the year 2000 on which the original application is based.

MR. HARPER:  Just to be clear, then, are these amounts included in the rate base that forms part of the revenue requirement that you are proposing for 2007 currently?  Like you're saying they will be transferred when it is approved.  We haven't quite got through that process yet.  So are they currently built into the rate base that you are using when you are determining your rate-of-return and cost of capital for purposes of this application?

MR. FAUGHT:  Yes, they are.

MR. HARPER:  So that, would you then agree that if we were to have a recovery here, they should probably be removed from the rate base you are using for purposes of determining your revenue requirement?

MR. FAUGHT:  That's correct.

MR. HARPER:  Thank you.

MR. KEIZER:  VECC question 5.2:
"Please confirm that the same tax rate, 38.62, was used to calculate the deferred amount for each year.  Please explain why this is appropriate when the tax rates have been changing, i.e., coming down with time."

MR. SEABROOK:  We would like to refer to Board Staff question 3(a).

As described in our response there, we viewed it as a portion of implicitly approved revenue requirement, and therefore felt no need to adjust the figure going forward.

MR. HARPER:  That's fine.  I think I understand the response.

MR. KEIZER:  Maybe I can group the next two questions together.  I think they are related.  That's VECC 5.2(b): 
"Was there any legal or statutory restriction on GLPL applying for a rate increase prior to August 2007?  If so, please indicate what it was."
And the 5.2(c) is:
"If not, what is GLPL's understanding as to the period of time over which it was, by statute, restricted from requesting a rate increase?" 


MR. LAVOIE:  Again, grouping these two together for purposes of answering the questions, I think I alluded earlier and again on a couple of previous Board Staff follow-up questions to rationale for why GLPL did not apply, and certainly it was our understanding that there was not any legal or -- restriction from us applying for rates prior to August of 2007.

MR. HARPER:  That's fine.  I think Mr. Millar has gone through this fairly carefully already and we have been provided with that.

MR. KEIZER:  That ends the questions relating to the deferral accounts that were submitted by the intervenors.

The next topic area that we had grouped together was rate design.

MR. MILLAR:  We have been going about an hour and a half now, Mr. Keizer.  First, Mr. Cassan, you didn't file any questions specifically on the deferral accounts issue, but did you have any questions on this issue before we proceed?

MR. CASSAN:  No.

MR. MILLAR:  Why don't we take a short break and come back, and then start on the rate design questions, if that is okay.


MR. KEIZER:  That will give us an opportunity to also review the handout that you gave us.

MR. MILLAR:  Yes.  Why don't we take 15 minutes?

MR. KEIZER:  Can we actually have a bit longer, because we want to actually come back and respond to that one question, plus also you have given us a fairly detailed calculation and I think just so we have a chance to run through that and give good answers to your questions.

MR. MILLAR:  How long do you want?

MR. KEIZER:  Let's just stretch it out to 20 minutes, if that would be fine.

MR. MILLAR:  That's fine.  Thank you.

MR. KEIZER:  Thank you.

--- Recess taken at 10:29 a.m.


--- Upon resuming at 11:00 a.m.

MR. MILLAR:  Okay, I think we will go back on the record.

Mr. Frost had a very quick -- I guess it is, I don't know if it is a follow-up or not, just with regard to one of the charts that was provided.

MR. FROST:  It's on the 1508.  Board Staff 3(e) for 1508, the $155,000 in that account related to the OEB cost assessments.  Do you have it there?

MR. FAUGHT:  Yes.

MR. FROST:  I would just like to refer you to the Accounting Procedures Handbook on the guidance for 1508.

We have reviewed the periods covered and the calculations, and we're not sure if it follows guidance as stated in the APH.  Perhaps you would like to review that at lunch or sometime.  We have a copy of the APH over there if you want to quickly look at it, and then come back to us.

MR. FAUGHT:  Fair enough.

MR. KEIZER:  Is that okay, the panel will have a look over lunch and deal with it?

MR. MILLAR:  I think it's a fairly minor issue.  I don't think we need an undertaking.  We can try and sort it out over lunch.



MR. KEIZER:  Just to be clear here, you want to make sure what has been done here follows the guidelines in the APH?

MR. MILLAR:  That's correct.

I think we will move on to tab 3, is that right, Mr. Keizer, in your prefiled materials?

MR. KEIZER:  Yes.  That is at tab 3.  But before we move on, there was a question raised this morning which the panel wanted an opportunity to think about and confer.  So I think they want to probably deal with the response to that question first, and then we will move on to the remainder of tab 3.

MR. MILLAR:  Sure.

MR. KEIZER:  As I recall, the question related to the reference that revenue requirement in the July, I believe, the order in 2003, rate order, and the reference to the revenue requirement is stated, I believe, in the first paragraph of the preamble of that order.

Mr. Lavoie, I believe, was going to provide his understanding.

MR. LAVOIE:  Sure.  I would draw everyone's attention that this order was issued as a result of the implementation of RRRP, and the extension of a regulation to the Great Lakes Power utility characteristics, and it was important to note -- and that's certainly what we believe -- where does this rural and remote rate protection fit into the equation with respect to recovery.

It was clear to us, and certainly reflective in the rates, that the rural remote rate protection was a reduction from rates to the benefit of consumers, and no part of that was to the utility in additional revenues.  You know, what it basically says, that the rate schedule is based upon that revenues of 9.8 million.

MR. FROST:  So you are still saying that -- it says revenue requirement 9.8 million, and you're saying, but it has an implicit revenue requirement of 12.7?  Still?

MR. LAVOIE:  Well, I guess I will read the sentence so it is clear:

"The amended rate schedule is based..."

So the amended rate schedule is based on a total revenue requirement of 9.8 million.  So the rate schedule that we're talking about is based on that, which includes 2.3 million worth of rural remote rate protection.

MR. FROST:  Thank you.

MR. MILLAR:  Did you want to move on to tab 3 now, Mr. Keizer?

MR. KEIZER:  Yes, we will.

MR. MILLAR:  I think we discussed on the break, the first question we have there is Board Staff number 4.  I think it's probably prudent to defer that until we are going to make Mr. Harmer available to answer questions on the Board Staff discussion paper.  And in fact, we have a written answer here, which essentially, as I read it, says GLPL doesn't necessarily prefer one over the other; indifferent, if I could use that word.  So maybe they will have some questions of Mr. Harmer, but I don't know that we need to deal with that right now.  We can put that to the end?

MR. KEIZER:  That's fair.  We can move to the next and come back later on to clarify any points that they maybe raise, and I believe VECC has questions too.



So the first question related to the rate design topic is Board Staff question 4(b), which is:

"What is the equivalency of energy and demand rates for residential consumers?
And it's a reference to Board Staff Interrogatory No. 30.

MR. SEABROOK:  Based on the assumptions that GLPL set out in their response to Board Staff Interrogatory No. 30, the calculated volumetric rate was 2.2 cents per kilowatt-hour, and the calculated demand rate was $4.3044 per kilowatt.  For additional information as to the approach the GLPL took, you can refer back to Board Staff Interrogatory No. 30.

Does that answer the question?

MR. MILLAR:  You also reference VECC question 5.3.  Is that VECC interrogatory 5.3?  Or is that a VECC question from today?

MR. SEABROOK:  That is an upcoming question to be addressed later in this conference.


MR. MILLAR:  Oh, I see.  Maybe what we can do on this one is defer any questions we have now until we get to it through the VECC question.


MR. KEIZER:  Well, it may be helpful actually to provide a context, if you would like.  Why don't we, to provide a context which may facilitate both Mr. Harper and yourselves, deal with VECC question 5.3 up first, and then that will enable you to then go back and ask supplementary questions on 4(b), and anything that Mr. Harper may have on 5.3, if that provides a better context.

I think that is one of the reasons why the question is referenced.  So why don't we go to 5.3 and then come back, if need be?

MR. MILLAR:  Sure.

MR. KEIZER:  So then, looking at VECC question 5.3, there is a preamble relating, I guess to OEB Staff Interrogatory No. 37:

"It seems somewhat counterintuitive for GLPL to be proposing rates that result in a revenue shortfall and a need for a deferral account, when customers in the former GS less than 50 kW and large customer B classes will both experience significant bill decreases."

The question that arises is, at 5.3(a), is:

"What other options did GLPL explore in terms of rates and rate design that would have reduced the revenue shortfall and evened out the rate increases across customer classes?"

MR. LAVOIE:  GLP looked at the regulation for guidance for setting rates in this proceeding.  It was a start point for us.

When we looked to the regulation, the regulation prescribes that all customers, with the exception of seasonal and street lighting, would be treated as residential customers.  So the existing residential rate class, then a prescription with respect to other characteristics of customers that would be deemed to be treated as residential customers.

I think the key word in this is the "treatment".

So with this guidance, GLP assumed that this treatment as residential customers included applying the rate associated with the class.

So we went out to calculate the impacts associated with the various classes that would be moving to the energy-based residential rate, and determined that, as set out in response to VECC Interrogatory No. 23(f), that there would be large disparity in impacts for customers that had been previously billed at demand rates, in particular those that were billed at the greater than 50 class rates.

As a result of this analysis, GLP decided to propose a demand-based rate, as established in Exhibit 8, tab 1, schedule 1, page 10 of the prefiled evidence.

It is GLP's belief that is an appropriate interpretation of the regulation that minimizes the undesirable outcomes that were not intended to result from the implementation of this regulation, and the revenue shortfall is an unintended result as well, the application of this regulation, and is unavoidable.

Different levels of rates for both R1 and R2 could influence the magnitude of the shortfall, but ultimately a shortfall is unavoidable.  GLP believes or feels that the shortfall resulting from our rate design ultimately achieves the intent of this regulation, and minimizes the rate disparities as described above.

MR. MILLAR:  I am sure Mr. Harper will have some questions too.  Can you explain to me, why is a revenue shortfall unavoidable?

MR. LAVOIE:  I guess, if we exclude our demand-based customers and look purely to the energy-based consumers, those that are billed at a less than 50 class have a current energy rate that is different than the residential rate that the regulation is asking us to apply.

So when you move those consumers to that rate, it creates a shortfall with respect to the implementation of that rate.

So, you know, kind of discounting what happens on the demand side, you're going to get that same impact when you are moving customers from one rate to another.

In the case of the GS less than 50 class, it is a movement down in rate.

MR. MILLAR:  Can't you set the rates to eliminate the shortfall?

MR. LAVOIE:  Again, I think GLPL --

MR. MILLAR:  You haven't, but it is not unavoidable, is it?

MR. LAVOIE:  I think it is unavoidable if you interpret the regulation beyond its intent that residential class customers be treated as that.  That would include the rate.

MR. MILLAR:  You have taken the position that there can be two residential rate classes.  It doesn't mean there has to be one, because you have two -- essentially two rate classes in your application.

MR. LAVOIE:  No, I think the characterization of our two rates are very similar to what certainly we -- in looking at prior rate applications and rate orders that have been issued.  I believe Hydro One had in the year 2000 range -- in the year 2000 time frame a rate schedule for residential that, you know, a residential R1 customer has both a demand and energy rate.  So that is the context that we're proposing rates, that two different rates apply to exactly the same class.

MR. MILLAR:  So why not have four different rates like you currently have?

MR. LAVOIE:  Well, the rates that we currently have apply to different classes of customers.

MR. MILLAR:  But can't we just -- since you are having effectively two different rate classes under -- two different rate schedules, I guess, under residential, why can't we keep four rate classes and call them all residential?

MR. LAVOIE:  I guess, again, GLP didn't look further than the regulation to try to determine what other appropriate rates would be to start this off.

I think we believe that the regulation is very clear on the fact that we need to start with residential.

MR. KEIZER:  It provides some guidance, though, I think, as well.  I think the issue you are raising, Mr. Millar, is also covered off in your question 4(c), where you ask, I believe, that, you know, is it -- in which we make reference to the fact that -- in your question 4(c) it says:
"Please explain how GLPL's two proposed rate classes within the residential customer class satisfies section 1 of the regulation that states:  'A consumer who falls into one of the following categories shall be treated as a residential rate class customer.'"

Then the question follows:  
"Is it GLPL's view that the regulation contemplates there being more than one residential rate class?"

And I think -- I think going to what Mr. Lavoie is saying, I think may provide some clarity to your question, in terms of the answer.  Maybe you could address that question, Mr. Lavoie.

MR. LAVOIE:  Sure.  I think if we look to the regulation, which we have extracted pieces of in our prefiled evidence under Exhibit 8, tab 1, schedule 1, starting at the top of page 3, where the regulation states that the -- this is a reclassification of customers, and I think the regulation is very clear that a consumer who falls into one of the following categories shall be treated as a residential rate class, singular, customer.

So it is -- it talks about taking customers that meet this criteria as listed below and put them in a residential class.

I think to talk about it being something different, so classes within a class, I think -- from a practical application I think is very -- it would be confusing for the consumers, as well as the utility, to try to keep, I guess, straight between what really is a class and a class within a class, when it is clearly not laid out in what I have seen in any handbooks or the like.

So I think there is a practical side of this, but I think also coming back to the regulation, I think we believe it is very clear.

MR. KEIZER:  Sorry, just to clarify, then there is the second part of this question, which also I think addresses Mr. Millar's -- it's the second sentence.

MR. LAVOIE:  Sure.

MR. KEIZER:  Any of the panel can answer.  I mean, it is not just Mr. Lavoie.

MR. LAVOIE:  I guess I'll just read it all the way through.  You know, if any criteria -- so, sorry.

MR. KEIZER:  I am talking about question 4(c).

MR. SEABROOK:  I think our response in that question was that the regulation doesn't contemplate more than one residential class.  However, under the regulation, we interpreted that it is possible to implement more than one rate under that class.

MR. MILLAR:  Right, and fair enough.  So why do we have to collapse the four down to two?  Why can't we just keep the four classes that exist, call them all residential?

You say we can do more than one.  I am not sure why two is better than four.

MR. LAVOIE:  I think we've started with applying one.  The rationale for moving to a demand-based rate was clearly due to the customers that fit the demand-based consumption patterns and would be impacted negatively.

So it is a rate mitigation rationale to have two rates.

MR. MILLAR:  You would normally never have a demand rate for a residential customer, would you?

MR. LAVOIE:  Like I mentioned earlier, it was clear to us, from prior applications of other utilities, that there were demand rates in effect for residential consumers.

MR. MILLAR:  Maybe I was wrong.

MR. LAVOIE:  I think we do have a schedule from a prior Hydro One Networks rate order that clearly shows that multiple rate per customer class.

MR. MILLAR:  Okay.  Mr. Harper, you can obviously -- I will let you ask your questions, as well.  I did have a couple of more follow-ups.

You spoke of the spirit of the regulation a few minutes ago, and I just wanted to follow up on that.  I take it your point is that the new -- that the regulation should lead to reduced rates for all customers that are now in the residential class, and that's why you've split it into these two and you have this deferral account to capture unrecovered revenue?  What is the spirit of the regulation that you were referring to?

MR. LAVOIE:  I think, clearly, rural or remote rate protection, the title of the regulation talks about protecting consumers from impacts of rates that should be offset partially by a prescribed subsidy mechanism that the regulation talks about in detail.

So when you would implement such a regulation, it would be counterintuitive to implement a rate, a new rate, that is meant to protect consumers, and yet there is an ill-effect as a result of that implementation.

That was sort of the spirit that we thought the regulation was talking about from the fundamental principle of the regulation, and, therefore, we looked for ways of creating a rate design with respect to that demand component to be -- affect no customers in an adverse way, beyond what the regulation talks about in terms of increasing consumer rates at an average rate in the province.

MR. MILLAR:  The regulation -- I actually don't have it in front of me, but, as I recall, the regulation requires that the Board calculates -- increase the customer -- the customer revenues recovered by GLPL will be set by applying this average, this average increase factor.

In your proposal, will the revenues recovered from this new residential class be -- you used the figure of 5 percent.  We're looking at two or one, whatever it is.  Let's say 5 percent, because that is your application.

In your application, will you be recovering 5 percent more from your residential customers than you were -- than you currently are?

MR. SEABROOK:  Yes.

MR. MILLAR:  So what is the deferral account for?

MR. SEABROOK:  Newly classified residential customers who will move to a different rate structure to our proposed implementation.

MR. LAVOIE:  To be clear, the customers that are currently in the less than -- the general service less than 50 class are moving to a rate that is less, that being the current residential energy rate, and also the large customer B class, which is moving from the current rate of that class to the proposed demand -- fixed demand rate.

MR. KEIZER:  Perhaps to help you figure out why the deferral was calculated, Mr. Seabrook or Mr. Lavoie, can you take them to maybe a place in the evidence where you actually talk about why the deferral account arises, and maybe we can walk through that and that will help provide a better explanation.


MR. SEABROOK:  In the prefiled evidence, if you flip to page 12 of Exhibit 8, tab 1, schedule 1. 

MR. MILLAR:  Okay.  

MR. SEABROOK:  Under section 5.4, the title is "transition issues".  We state there is a transitional issue that arises as a result of the reclassification and establishing R1 and R2 rates.  The implementation of the reclassification and R1 and R2 rates results in the recovery of revenue less than what would have been recovered if GLPL were to implement its current customer classification and rates plus 5 percent.

MR. MILLAR:  So you are not recovering all that money?  There is a shortfall when you do this?

MR. SEABROOK:  There is a shortfall, yes.

MR. MILLAR:  How is that in keeping with the -- I guess what you want to do is have rate decreases for all customers, and this is the only way you could have rate decreases for all customers in the residential class?

MR. SEABROOK:  I don't know if the intent was to have, necessarily, rate decreases, but to mitigate rate impacts and provide protection to those customers.  Based on our interpretation of the regulations and proposed implementation, there is this shortfall that exists.

MR. MILLAR:  So it is fair to say, then, if this is approved, that the new residential customers will not be paying 5 percent more in distribution revenues than they currently are?

MR. LAVOIE:  They will be paying more, by 5 percent.

MR. SEABROOK:  GLPL's current residential class will be paying 5 percent more in the proposed --

MR. MILLAR:  Maybe we are getting confused between the current residential and the new residential.  The new residential is really an amalgam of four classes; is that correct?

MR. SEABROOK:  Right.

MR. MILLAR:  If you add up all the current distribution revenues from those four classes -- and we've collapsed them down to two, now -– but I take it that if you add all that up, and let's imagine that currently you're getting a $100 from those four classes, if this is approved, you won't be getting $105 dollars from those classes.  Is that correct?

MR. SEABROOK:  That's correct.

MR. MILLAR:  And there will be a deferral account to capture the difference there?


MR. SEABROOK:  That's correct.

MR. MILLAR:  You may have stated this in the application.  Do you state when this deferral account will be cleared?  Or is that for the future?  You may not have addressed that.

MR. SEABROOK:  I think we will be addressing that in the future.

MR. MILLAR:  Would that be recovered, then, from those residential rate customers?  Or would that be decided later?

MR. LAVOIE:  We do address that question specifically in the package here.  I don't know if it is worthwhile going directly to that or --

MR. MILLAR:  Yes, if it helps to answer the question.  Sure.

MR. KEIZER:  There is a question that addresses --

MR. MILLAR:  I'm sorry, we're skipping around.  It is my fault.

MR. SEABROOK:  Board Staff question 4(d).

MR. MILLAR:  4(d)?

MR. SEABROOK:  4(d).

MR. MILLAR:  So you want to recover this from RRRP, not from your own ratepayers.

MR. SEABROOK:  That's right.  It is our understanding that this shortfall is as a result of the calculation of RRRP, and therefore, it should be recovered from -- the party that should pay for the shortfall should be the party that ultimately pays in the end.  Right?  And it's a deficiency in the RRRP payment, not in rates, in our proposal.

MR. MILLAR:  Okay.  I want to make 100 percent sure I am clear on what you have done.  I think was the one that was getting confused in my head.

The position you've taken is that the regulation requires that the current residential ratepayers have an increase of 5 percent, to use the illustrative figure.  And that was not meant to apply to the new residential rate class?

MR. SEABROOK:  The 5 percent figure was applied in calculating the RRRP payment.

MR. MILLAR:  Right.

MR. SEABROOK:  Then in the proposed rates we used the 5 percent increase again.  However, customers moved classes or rate structures.

MR. MILLAR:  Okay.  That's helpful.  I think I understand.

MR. KEIZER:  I don't think there is a direct one-to-one connection between -– sorry, just so I understand your question, I think what you're saying is that the regulation's, somehow, intent was to increase current residential ratepayers by 5 percent, but not apply to everybody that was migrating into that class by virtue of the reclassification.

I think just to be clear, is that what you are saying, Mr. Seabrook?  I don't think it was what you were saying.  I just want to make sure that you weren't walking away, Mr. Millar, under a different notion, that you actually, as I understood it, classified everybody as residential, allocated the revenue to that class, dealing with RRRP, and then prescribed the rates from there, looking at the rate impacts, and whatever fell out of those rate impacts fell out of those rate impacts; is that right?  It wasn't directly tied to the 5 percent increment.

MR. SEABROOK:  I'm not sure if I follow.  Sorry.

MR. KEIZER:  Maybe I am making it more confusing.

I think Mr. Millar's question was that the regulation's intent was to increase the current residential customers by 5 percent, and everybody else being put into the class wouldn't get subject to that 5 percent increase, and that's what is giving rise to this transitional number.

MR. SEABROOK:  That's not what we're saying.

MR. KEIZER:  Okay.

MR. SEABROOK:  The transitional deferral account that we are requesting is a result of changing the rate structure, not just the shortfall of the 5 percent.  Is that clear?

MR. MILLAR:  Well, why don't we do it one more time?  We have all day.

[Laughter]

MR. MILLAR:  Currently, there are four classes that will become the new residential class.  Although it will be two, I will just call it one class.

MR. SEABROOK:  That's right.

MR. MILLAR:  Currently, one of those four is residential.

MR. SEABROOK:  Yes.

MR. MILLAR:  And currently, you are recovering revenue from that class.  Let's imagine that number is $100, just from the current residential class.  Going forward, what you propose to do is, you will recover $105 from that class?

MR. SEABROOK:  That's right.

MR. MILLAR:  Is the new -- the new residential split is into two.  Is the first part of that two-part rate the same as the old residential class?  For example, you're not putting GS under 50 into the new residential class?

MR. LAVOIE:  GS under 50 would go to that energy-based rate.

MR. MILLAR:  So there used to be four.  And in the two, the first one will be the old residential?  And the other three go into the second class?

MR. SEABROOK:  No.  The GS less than 50 will go into the current residential class.

MR. MILLAR:  Oh, I see.  Okay, so it is not an apples-to-apples?

MR. SEABROOK:  No.

MR. LAVOIE:  Anybody billed on an energy base before, of those four classes, that being, would move to the energy-based rate.

Those that were billed on a demand basis will be collapsed into the demand rate.

MR. MILLAR:  GS under 50 was a kilowatt-hour.

MR. LAVOIE:  Energy-based rate.

MR. MILLAR:  Energy-based rate.  Okay.  So --

MR. KEIZER:  Mr. Seabrook, though, just so I can help you through this -- the starting point was to put everybody in one great big lump; is that right?  Everybody was residential.  So all of the revenue associated with GS greater than 50, the revenue of the GS less than 50, and the residential were all squished into one class and then allocated from there?

MR. LAVOIE:  Maybe the best thing to do is walk through maybe our exhibit with respect to how we interpret the regulation, and the steps we took to calculate the various pieces.

I think it is a fairly complicated thing, and I think, obviously, I think it might need some clarification here.  Does that make some sense?

MR. MILLAR:  Yes.  That would be helpful for me.

MR. SEABROOK:  I guess what we can do is start at section 5.0 on page 9 of 8.1.1.

[Witness panel confers]

MR. SEABROOK:  Sorry.  We will actually flip you to page 13 of 18.

Table 8.1.1 L, which is the calculation of the transitional shortfall.  This table has two proposed residential energy rates.  The first column here is the 2007 revenue requirement proposed in the application for the new residential class.  Okay?  


It's split between what should be allocated to R1 and R2, based on our cost allocation in Exhibit 8, tab 1, schedule 1.

Now, the second column "total revenue from rates" is the revenue expected to be collected from the proposed rate schedules of GLPL.

Then column 3 "rate protection" is the RRRP payment that GLPL has proposed, also in 8.1.1.

And this gives us a total residential revenue, which is the total of the revenue from rates, plus the rate protection.  

And as a comparison, there's a shortfall between what the revenue requirement is for each of these two rate structures and what the actual residential revenue is, and that shortfall ends up being $1 million on an annualized basis.

MR. KEIZER:  I think Mr. Millar understands there is a shortfall of $1 million.  He wants to understand why, in the preparation of the rate R1 and R2 it causes the $1 million.

MR. HARPER:  Can I perhaps maybe -- I don't know whether -- just maybe ask a question which I think may help, at least clarify in my mind.

MR. MILLAR:  Go ahead.

MR. HARPER:  There is no -- like, the rates that you propose for the R1 and R2, the way they're designed, collect from those customers roughly $4.9 million taken from that table; correct?

MR. SEABROOK:  Sorry?

MR. HARPER:  The rates you're proposing for your R1 and R2 customers in the residential class will collect that $4,900,500?

MR. SEABROOK:  Yes.  That's correct.

MR. HARPER:  There is no reason under the regulation why you couldn't have had slightly higher rates and eliminated the shortfall, other than the fact that, from your perspective, that would have led to rate impacts on certain customer classes that were inappropriate, and, therefore, you proposed a lower set of rates?  That's my understanding.

MR. FAUGHT:  I think just as a point of clarification, the 4.9 total revenue from rates is based on the proposed rates we have in the application for these two rate structures in the residential class.

MR. HARPER:  Right.

MR. FAUGHT:  The calculation of the RRRP, the 8.867 million for rate protection in this table, is calculated based on the regulations.

In the regulations, the calculation of RRRP uses the current structures of rates, that being the four structures we currently have, which are different from the total revenue received from rates in the new structure.

So basically what I am saying is the calculation of RRRP is, take your revenue requirement, take out the money you're going to get from customers, equals the RRRP payment, which is essentially what we're looking at here, except for the change in total revenue from rates, i.e., from the customers, is different in calculating RRRP.

So that creates the variance.

MR. HARPER:  I understand.  I was trying to get to the point of there's no reason why you couldn't have proposed  -- there is no reason under the regulation why you couldn't have proposed a set of residential rates for R1 and R2 that were slightly higher and actually eliminated the $1 million, other than the fact that through your rate design considerations you were also concerned about impacts on the different customer classes?

I am not saying you did anything wrong.  I am just trying to understand what sort of -- the shortfall is not a constraint as a result of the regulation.  It is a constraint as a result of your choice of rate design and the way you have chosen -- and the levels at which you have chosen to set those rates?

MR. LAVOIE:  Certainly a consideration that we had to take into account, as I stated earlier, was the moving to -- moving customers to different rates were going to result in impacts.  We looked at that impact, and, if you moved everybody to a single rate, it created impacts.

And that was our belief that certainly that was not the intention of this and that we needed to do something in our proposal that at least didn't inappropriately affect customers as a result of implementation of a protection mechanism here.

So to the extension of that, Mr. Harper, I am not sure -- without implementing rates, multiple rates, that being four distinct rates, I don't believe you would be able to eliminate the shortfall completely.

If you are moving customers to -- collapsing customers and moving them to less than the number of rates that you have right now, you are going to create a variance with respect to what that consumer is paying, and in the way that the regulation steps through, you are doing that reclassification and movement of a customer in a rate at a time that will create a surplus or a deficiency.

In our case, it is a shortfall.  Did I not...

MR. HARPER:  I'm sorry.  Like I said, I am not saying that -- you know, obviously from my client's perspective, consideration of rate impacts, it is an important thing when you are going through setting rates, so I am not in any way being critical of what you're doing.  I am just trying to understand what was an absolute constraint, say, from a statutory perspective.  For instance, what was a constraint that you considered when you were actually going through your thinking process?  And clearly the fact you went from only one rate to two rates was parts of your thinking in terms of trying to reduce impacts and sort of make things fair across all of the customer classes.

The fact that there is -- I guess what I was just in my mind trying to understand was the fact that you didn't propose rates that were -- there's nothing under the regulation that would have stopped you from proposing rates on page 12, if I go back one page, that were slightly higher for each of those customer classes that meant there was no revenue shortfall, other than the fact there would have been a material impact on some of those customers as a result of doing that, and that, in your view, was inappropriate?

MR. LAVOIE:  That's correct.  We certainly had in the front of our minds what was the result of implementing this.  How was it implemented, and what would be the results of that?

And when we looked at what we believed would be in the statute or in the regulation directly was the fact you didn't have a whole lot of choice here with respect to rate.  It said you have to treat them as a residential customer, and we felt very strongly that that was leaning very heavily to the rate and that being able to propose a menu of rates under that was not our belief, and, therefore, we looked at it as a problem, actually; said, Well, how does this -- how are we going to implement this thing so that it doesn't create a problem for specific customers in our service area?

And, therefore, it led to us think, well, if you started with the demand rate that applied to most of those customers and looked at that rate, it really created a scenario where rates impacts are very reasonable for those that are affected on an upper basis, and the result of the reapportionment of the balance of those customers, that being the GS less than 50 and the large customer B, into those rates that we proposed creates a shortfall issue.  It's a transitional issue.

On an annualized base, it is a -- it is only going to happen once.  On a go-forward basis, these customers will be applicable to average rate increases, that we see consumers that are unaffected by this reallocation on a go-forward basis.

MR. REID:  Can I?

MR. MILLAR:  Yes.

MR. REID:  I think I may have already heard this, but I just want to be clear.  Your interpretation of the regulation was that you could not have an R1 energy rate and an R2 energy rate, so that, say, the general service less than 50 customers could have been in an energy-only rate that was different from the other residential rate?

MR. LAVOIE:  Our interpretation was that -- really didn't have latitude to do that.

MR. REID:  Okay.

MR. MILLAR:  Some of your customers do have rate increases even under your proposal, though; is that correct?

MR. LAVOIE:  That's correct.  I think the easiest way to think about that one is those customers are the ones that existed or pre-existed in a class that we have used the same rate for in our proposal.

In other words, the residential is a good example.  That rate was exactly the same rate that we started from.  The current approved rate, plus an average increase, is a new rate that -- the same folks that were the residential in the previous rate application to the one we are proposing.

So they would have an increase in costs as a result of the average rate increase.

Similarly, the GS greater than 50 class of customers is the basis -- that basis of those -- the new rate on a demand basis is the rate that we had in our previous application, plus 5 percent.

So, therefore, it is a natural extension that those customers that are reclassed into a rate that really only changes by 5 percent are affected slightly based on the average increase in the province.

MR. MILLAR:  And nobody actually has a 5 percent increase in their rates; is that right?

MR. SEABROOK:  These are impacts on a total bill basis.

MR. MILLAR:  Oh, it's total bill?  Okay.  Yes, I'm sorry.  It's total bill.

I handed out a chart earlier today.  I think I gave it to your counsel and I understand you have discussed it.

This is something Staff kind of put together.  It's for illustrative purposes only.  None of the numbers, of course, are real.  I thought it might be helpful in the discussion of this issue with cost allocation and rate design to sort of put this on paper.  I am going to be referring mostly to the bottom segment, where it says "Staff's understanding of the application of the reg."

I might refer a little bit to the ones above, which are scenarios that may be in existence right now.

We struggled with the same issue that you are struggling with.  How do you give effect to this regulation?  You had four classes, now you have two or you might have one, or however many.  It's not an easy issue to determine how this works on the ground.

Maybe I will give this an exhibit number.  Where are we?  KT1.2.
EXHIBIT NO. KT1.2:  CHART PREPARED BY BOARD STAFF


MR. MILLAR:  The way we thought you might be able to do it is, you will see we have, on the bottom part of the chart, we have three classes: residential, seasonal and street lighting.  We backed out seasonal and street lighting, because those aren't covered by the reg.  Do you agree with that?

MR. FAUGHT:  Nods head.

MR. MILLAR:  Okay.  The residential, what we did was, if you look at the chart above, we have the four old classifications and we just made up numbers for the cost allocation.  So we had 40 for residential, then we did 20 for GS under 50, ten for GS over 50, and ten for customer B.  Those are entirely made-up numbers, but it's just for the purposes of illustration.  That's where we got the 80 percent on the chart below.  Do you see how we did that?

MR. SEABROOK:  Yes.

MR. MILLAR:  So what we thought you might be able to do was, we assumed an old revenue requirement of $100, and a new revenue requirement of $120, just to reflect that there is an increase.  Of course, it doesn't match the actual increase, but just for illustration.

So what we did was, for the residential side, we accepted that, you know, 80 percent of your old revenues were from -- or the cost allocation, anyway, in the old revenues were from residential.  We took the new revenue requirement and multiplied it by 0.8 and we got 96.  Then the way we thought you might do it is you would add the 5 percent figure to your old revenue from that class -- which we had at 80 -- which gives you a new revenue from that class as 84.

Hen the difference between the 96 and 84 is the 12, which is the revenue from the RRRP.  Then for seasonal and street lighting, we have those as exempted.  Whatever cost allocation says, that's what you recover from them.  Just as a first question, do you understand what we did here?

MR. SEABROOK:  Yes.

MR. MILLAR:  Okay.  Is it GLPL's view that this approach would be inconsistent with the application of the regulation?

MR. SEABROOK:  It's our opinion that this approach is consistent with our approach that we have proposed.

MR. MILLAR:  Is consistent or inconsistent?

MR. SEABROOK:  Consistent.

MR. MILLAR:  Well, the way we've done it, at least as I understand it, there is no need for a deferral account; is there?  You actually recover all of the revenues you need?

MR. SEABROOK:  Yes.  Sorry, there is an inconsistency in the "revenue from customers" column.

MR. MILLAR:  Okay.

MR. SEABROOK:  Our interpretation of the regulation is that this column is based on current rates.

MR. MILLAR:  Yes.

MR. SEABROOK:  Which is the four different rates that we have mentioned.

Now, when we calculate that, it actually came out to be a figure higher than 84.  Say, 85.

MR. MILLAR:  Okay.

MR. SEABROOK:  Then in the calculation of the revenue from RRRP would therefore knock it down to 11.  Does that -

MR. MILLAR:  Yes.  I understand we have done it differently.  I guess it is almost a question for your counsel.  It may actually be argument, rather than something properly addressed here, but I guess my question is:  First, would you agree the way we've done it there would be no need for a deferral account; is that fair?

MR. SEABROOK:  We agree.  This is the way we would propose to do it in future years when there is no reclassification.

MR. MILLAR:  Just to be clear, it is your position the way we have done it is not consistent with what the regulation requires?  It would be wrong to do it this way?

MR. KEIZER:  Can I just step back here a second?

As I understand it, the basis of your questions is:  What's driving the deferral account?  And I think a lot of the questions relates to the rate structure of R1 and R2, and if you had a different -- if you had R1, R2, R3 and R4, you wouldn't have a deferral account or whatever else.

And I just want to take you back, if I can, and it was a response given by Mr. Faught, which I thought actually really drove the issue of why it arises.  If I can paraphrase it -- and then Mr. Faught can confirm whether I am correct -- I think what he said was:  When GLPL determined the amount of RRRP, it had to take the -- based on the regulation -- the existing rate order or rate classes, and determine, based upon what it would assume the Board would approve for revenue, those existing rates and the Board-approved revenue requirement.  Take the difference, and that gives you a certain number.

So RRRP is then determined on existing rates.  But then what they had to do is they had to, then, develop a rate for the reclassified customers that was appropriate.

So based upon regulation, I think it is 445, which says we have to put everybody into one residential class.  So they then created those rates, which they then assumed, I think, step 1, everybody's residential.  Step 2, does that work?  Well, we've got some problems with rate impacts.  So step 3, maybe it makes sense to do R1 energy and R1 demand, which then goes ahead and you would use that to obtain your revenue.

I think the issue that's arising is, is that when you apply the amount of revenue requirement that's generated by using the existing rates as the regulation contemplates, to the revenue that is acquired when you apply the new rates, they don't match up.

As a result, there is a shortfall, because when you take somebody from those existing rates and move them to the new rates, it doesn't generate the same amount of income or the same amount of revenue, and that creates the shortfall.

So that is why it is a one-time only transition, because in the next year, you are using the rate you have used to calculate the revenue in the new rates, and so you are comparing apples to apples.

In the first year, it is an apples-to-orange comparison of revenues, and that's what is driving the transitional deficiency.

So I don't want you to go down the path, based on what Mr. Faught had said, of saying it is all about the R1 and R2 and R3.  It is, as an element, and the fact that you need to use the new rates under the reclassification, but the initial RRRP payment for the first year is based on the existing rate.  I think that is what is driving the difference.

So am I correct?  Is that --

MR. FAUGHT:  That's correct.

MR. KEIZER:  I think that is the issue.  Then the next question is -- I think where your questions are going, Mr. Millar is:  Could you, then, based upon the rate design, have done something to compensate for the fact that you had to use the existing rates to calculate the first round of RRRP?

I think, hopefully, I have helped.


MR. MILLAR:  Yes.  And I think there is some, perhaps some confusion in the way the regulation is written, and I understand it is not necessarily straightforward how you would go about this.

Maybe I will leave the questions here at that.  If there is something for argument, then there is.  But I think the regulation says what it says, and I have your answers on the record as to why you did it that way.

We have got a little bit off track here.  I can't even remember where we were.  I suspect we probably answered many of Staff's questions.

Maybe we should go back to where we were and keep going.  But I think we may be able to tick off a bunch of the Staff ones.  Then I'm sure Mr. Harper has some additional questions as well.

MR. KEIZER:  Where are we at?


MR. MILLAR:  We finished 4(c), and there was an answer to that.  I think we finished 4(b) --

MR. KEIZER:  I think the way we started out is we did 4(b), and then we thought that touching on 5.3 of VECC would clarify some issues, and I think we have --

MR. MILLAR:  Mixed results.

MR. KEIZER:  We'll leave that, I guess, to the end of the day to figure out whether that happened.

So we've dealt with 5.3 of VECC.  So that would then   -- I am assuming, then, we dealt with the issues under 4(b), which led us to 4(c).

MR. MILLAR:  Which you answered as well.

MR. KEIZER:  Which we answered as well.

Then we also ended up, I think, going to 4(d), which is the -- but maybe we should touch on that again, to make sure that we have covered it off properly, because I think it might have been tangentially covered.  Then we will proceed through the remainder of the questions.

And if we have answered it, we will just indicate we have.  Board Staff question 4(d), indicates:
"The following question refers to the deferral account -–"
and maybe we have covered it off.

This is how it was going to be recovered.  I mean, you had a line of question -- 4(d) related to how you were going to recover it, but I think we touched on it, but I don't think we expanded fully on it.  If you want, we will revisit --

MR. MILLAR:  Maybe what we can do is I am just discussing with Mr. Harmer, and rather than go through A, B, C, D, there was just, I think, one question left I had on this whole area, and then maybe we can go we can go to Mr. Harper, rather than try to figure out if it is A, B, C or D.

It is this.  When you have split -- your proposal splits the residential class into two subclasses, if I can call them that.  Is it the intention or is it the design of those rates that the rates paid by someone in (a) will match those in (b), as in -- well, is the revenue -- are they supposed to be paying -- ultimately one is a demand rate.  One is an energy rate.  Are they supposed to be paying the same distribution rates at the end of the day?  Are they supposed to add up to the same?

MR. SEABROOK:  I think that's difficult to determine based on different consumptions and load factors for different types of customers, especially within our proposed residential class, which has -- goes from base residential customer all the way up to what we have classified now as large customer B.  There is a vast variation there.

MR. MILLAR:  So they're not necessarily designed to lead to the same result?

MR. LAVOIE:  I think by the nature of a demand not being equivalent to a kilowatt-hour -- a kilowatt not being equivalent to a kilowatt-hour, you have to make a set of assumptions in order to determine what an equivalent rate would be, given a particular customer.

We don't have a lot of customers, really, in terms of those billed at demand -- at demand rates.  You could pick load factors and determine what, based on a set of assumptions, would be an equivalent.  But the end result would be that if you pick any particular example, you would have a customer that wouldn't be equivalent based on their particular load characteristics.

So it is a difficult question.  We certainly understand, based on the questions, that that is being considered, and we have struggled to really try to suggest what would be an equivalent rate.

MR. HARPER:  Mr. Millar, if I could jump in, because it seems to me, if I understand correctly, for your energy-based rate basically you started with the existing residential rates and basically increased them by 5 percent, if I can recall correctly.

For your demand-based rate, you started with the existing GS greater than 50 rate per kilowatt and increased that by 5 percent.

So to go to Mr. Millar's point, unless those two rates were equivalent to start with, which there is no guarantee in any sense that they were, they won't be equivalent after the fact?

MR. LAVOIE:  That's a correct paraphrase, and I can tell you, having been involved in some of that rate-setting initially, that that was not one of the parameters that we were looking at at the time.

MR. HARPER:  I did understand.  I was just trying to clarify Mr. Millar's question.

MR. LAVOIE:  Absolutely.

MR. MILLAR:  Thank you, because I struggled with the phrasing.  So thank you, Mr. Harper.

I think those are the questions we have on the rate design issue.  Mr. Harper, I assume, has a few more.

Maybe, I guess, if you want to go through them question by question, Mr. Keizer?

MR. KEIZER:  Yes.  I am in Mr. Harper's hands.  I can go through them question by question, and then he will know they have each been addressed and you can ask us questions as we go.  Is that okay, Mr. Harper?

MR. HARPER:  That's fine.  To some extent, we may be plowing ground we have somewhat covered before, and -- but I think it probably would be useful.

MR. KEIZER:  We will move it along quickly if we do get into that rough ground.

Given GL -- the first question is VECC 6.1:
"Given GLPL believes two subcategories of residential customer are permitted under the regulation, is there any reason why additional subcategories could not be created?"

I think we touched on this issue before in respect to Board Staff question, I think, 4(c).  Do you want anything further on that, Mr. Harper?

MR. HARPER:  No.  Maybe if I could paraphrase, because I think I understand.  You started off with -- if I can paraphrase, by my understanding of what you went through and what my conclusion is from that, you started with the regulation.  You looked at the issue of having one class for everybody.

You decided that if you moved everybody to the same rate, that was going to have inappropriate impacts for certain customers, so you looked at another alternative.  Whether we call them subcategories or subclasses, we call them two different rates.  We looked at two different rates.

You at that point in time decided, Well, if I have two different rates, one on energy and one on demand, from my perspective, that seems to satisfactorily address the impact issues.

So from that perspective, it seems that you have interpreted the regulation as saying, I can have more than one rate, because you proposed two.

I guess I don't see any reason why -- you know, if things had been wrong, you might have -- you know, once you can say there is more than one, there is nothing saying there has to be only two or there has to be only three.  You basically stopped at two because you believe at two, you have adequately addressed the issues and the concerns about impacts?

MR. LAVOIE:  Yes.  Again, I guess I will come back to the practical application.  We felt that certainly anybody looking at the regulation and applying that rate the way that it talks about being residential, and to have more rates certainly makes it a harder reality to implement more.  However --

MR. HARPER:  You did have more than one rate in the end?

MR. LAVOIE:  Absolutely.

MR. HARPER:  Yes.

MR. KEIZER:  Okay.  VECC question 6.1(b):

"In GLPL's view, do all of the consumers classified as residential based on Regulation 445.07 qualify as residential customers for the regulated price plan?  If not, why not?"

MR. SEABROOK:  GLP will continue to apply the RPP in the same manner they currently apply it.  Eligibility for RPP is based on volumes, not necessarily on customer classification.

A designated -- as well as designated customers.  Low volume customers eligible for RPP are customers with volumes at 250,000 kilowatt-hours per year or less.

MR. HARPER:  I actually thought there was a reference in this particular -- in the regulation applying to the regulated price plan.  There was a reference specifically to residential customers.  Actually, the only reason I was asking the question was to demonstrate, to some extent, the definition for residential varies depending upon where you are using it.

We're using it here for purposes of figuring out what the RRRP should be.  Other people in different areas will use different definitions of residential for different purposes, and I guess that was all I was trying to get some clarification on.

Is that a fair way to say it?  I mean, we have a definition of residential here which is applying the RRRP.  Other places, one may use a different definition of residential for different purposes, if I can put it that way?

MR. SEABROOK:  I believe that our interpretation is that it is for low-volume customers, such as residential or small business.

MR. HARPER:  Okay.  No big point.

MR. KEIZER:  Moving to the next question, VECC question 7.1: 

"Based on GLPL's understanding of Regulation 445/07, is there any reason why the relative costs recovered from R1 and R2 customers in the future could not be adjusted to reflect the results of a cost allocation study, or do R1 and R2 rates have to increase by the same percentage in the future?"

MR. LAVOIE:  And based on, again, I think coming back to our -- the definition of residential or the prescription of residential in the regulation, it talks about a singular rate class.

We feel that there doesn't allow for differences in allocation within a class, or at least that would seem inappropriate.

The allocation would go to the residential class in total, in terms of allocating costs, but not to an individual grouping sort of within that single class.

MR. HARPER:  Okay, I think I understand your point.

I think earlier, I think somebody made reference to the fact that Hydro One, for instance, having multiple residential classes, some with different rates, I think if you are familiar -- and they've got multiple residential classes or subclasses with different rates.  I think if you are familiar with the way they do their, say, cost allocation, they allocate -- they do cost allocation to each of those individual classes, not to the one big pot, and then increase all of the classes by the single same amount.

So I am just saying that I am not too sure if your treatment here is consistent with treatment that goes on elsewhere where you have used examples of why -- examples of why it is possible to have multiple rates within the same class.

MR. LAVOIE:  Yes, I see your point, Mr. Harper.

And that's clear now, I guess clearer now that you make that point.  Certainly I guess my recollection of those rate classes being different have very discrete descriptions about, you know, what makes this customer grouping special within -- you know, so urban density, light density, so ones that will be applicable to an RRRP regime versus not.

And I think we are creating a somewhat of a homogenous group by virtue of the regulation, and I guess it is not quite the same context to the rate schedules Hydro One would have.  So I see your point.

MR. KEIZER:  VECC question 8.1.  "Based on GLPL's -–" oops, sorry, did I just read that one?  No, sorry.
"Based on GLPL's understanding of Regulation 445/07, is there any reason why the rate design, e.g. fixed versus variable split, needs to be maintained for R1 and R2 customers?"

MR. LAVOIE:  The regulation doesn't explicitly prescribe the rate design.  GLPL has proposed that R1 and R2 rate designs to address certain practical issues, the resulting rate disparity, as we discussed earlier, that arise from it.  It should be noted that if R1 and R2 rates were created and then later changed by the Board, that change would give rise to another transitional anomaly similar to the one we have talked about here, for which the requested deferral account would be made, and it would create either a deficiency or a surplus.  So I think there is some implementation issue.

MR. HARPER:  I guess this gets back to the issue, though, of whether or not you believe -– and I think it was the same issue Mr. Millar was pursuing with you -- whether you really believe by definition it creates a deferral account.  Or a deferral account arises, simply as a result of the fact that there are rate impact concerns that you view, arise from that change that, you know, are inappropriate and the only way you can address them is by not charging everybody precisely the new rate.

For an illustrative example, I think we talked about earlier that your new R1 class was based on the existing rates plus 5 percent.  I understand the -- you know, but to be quite honest with you, there is no magic to the 5 percent.  The 5 percent could have been 4 percent, in which case you would have had a bigger deferral account; or the 5 percent could have been 5.2 percent, in which case you would have had a smaller deferral account.

The judgment of the company, as I understand it, was that 5 percent was what gave a reasonable bill impact overall for those customers, and therefore it was the appropriate number to put forward.

MR. LAVOIE:  Right.

MR. HARPER:  Okay, thank you.

MR. KEIZER:  My apologies.  The microphone wasn't on.  VECC question 8.1(b):

"What was the range of results for the residential R1 service charge produced by GLPL's cost allocation informational filing, i.e., sheet 02?"

MR. SEABROOK:  Just as point of clarification, there was a couple of issues in trying to compare this data to the proposed data.  One of them was that the cost allocation filing was based on 2004, of course.  This is 2007 rate year here.

The other thing is, at the time of filing the cost allocation informational filing, we hadn't contemplated this R1, R2 structure.  Therefore, we didn't file any information on it in the informational filing.

With that said, we used the old residential statistics that came from the model, and sheet 02 suggested that the floor would be calculated at $9.20, and the ceiling at $22.17.

And I guess this moves on to VECC 8.1(c), which ties to part (b), and I would just like to state that our proposed fixed rate falls within the floor and ceiling in the filing.

MR. HARPER:  That's fine.  That is really all I was looking for, because the information wasn't in the filing itself.

MR. KEIZER:  So I'm assuming we don't have to deal with 8.1(c)C, then.

MR. HARPER:  No.  We're fine.

MR. KEIZER:  We did deal with VECC 5.3, which appears in tab 3, and so I think that is subject to, I guess, the first Board Staff question, which we will continue to defer, which is 4(a), which is related to Board Staff's paper.  We have dealt with Board Staff.  We have dealt with VECC.  The remaining questions are two questions -- three questions, sorry, from the Algoma Coalition.  So I will proceed to address those to the panel.
"How is the historical cost advantage that the ratepayers of GLPL's service territory enjoyed prior to market opening being re-established through this new rate model?"

MR. LAVOIE:  In preparing the application, GLP followed Board filing guidelines and regulations that apply to the customers within the territory.

It was not the purpose of the application to determine how historical cost advantages for ratepayers, given the filing was prospective in nature.  And in any event, because it's not possible to unbundle the rates prior to 2002, GLP has no means by way to carry out such an analysis.

I think it is, to get some clarity and depth to that, because the utility had shared costs to consumers that were outside the distribution territory, it was very difficult to do an unbundled distribution rate comparison; it's impossible to do.

So, perhaps, and I guess what my suggestion was, having gone through this answer, was to look at the answer to Algoma Coalition No. 2, and maybe I will provide some guidance as to perspective in context to where rates have come from in the prior-to-2002 era, as some means of comparison.

MR. KEIZER:  Before you launch into that answer, let me just read the Algoma Coalition No. 2 into the record.  It is:

"How have the rates changed over the past 15 years -–"
MR. HARPER:  Yes -- 


MR. KEIZER:  Sorry.  I don't mean to interrupt my friend.  If he has follow-up questions, maybe you can address it to both Algoma 1 and Algoma 2 questions, if that works for you.  Sorry.
"How have the rates changed over the past 15 years and what is the proper basis for moving forward?"

MR. LAVOIE:  So we were able to, in the context of this question, we were able to look back -– obviously, if we're looking at, and I presume we're talking about a total bill comparison or total bill basis, rather than trying to look at an unbundled basis, which again, I suggest from earlier it is impossible to look at in that context.

But if we look at the rate classes of customers that existed prior to market opening and line those up with the rate classes that we currently have in place, and did a comparison from 1992, say, being a bench year from which rates were increased in the future, and use 2007 as being the end point, where we're at in our proposal in the application, and say:  Well, if you were to look at that increase over that period of time, what would the annual inflation factor have to be with respect to those rates over that period of time?

I think you could see relatively constant or equal inflation factors for most of the classes in the thing.

So I think in the context of comparing rates, obviously if things had moved at different rates, it would have moved whatever -- using again, the '92 year as a bench for comparison -– it moved relatively, relative to what those customers were paying amongst the classes.  I am not sure if that helps in the analysis here.

I guess the other point to make here is that we did look at what was the average inflation rate since '95, and although, you know, the rate increases had been significant in some years, when you look at it on a basis over a period of time, it is close to in line with CPI inflation.

MR. MILLAR:  Your microphone, Mr. Cassan.

MR. CASSAN:  Tim, I understand that you have looked at this.  Can you produce the data that you used to get these forms, so that we can look at that?

MR. LAVOIE:  Certainly.

MR. MILLAR:  That will be JT1.2.  
UNDERTAKING NO. JT1.2:  TO PROVIDE DATA RELATED TO ALGOMA QUESTION NO. 2


MR. KEIZER:  So just so we understand the undertaking, you are asking for the underlying data related to Algoma No. 2; is that right?

MR. CASSAN:  Correct.

MR. KEIZER:  Any further question before I proceed?

MR. CASSAN:  I don't think so right now.

MR. KEIZER:  Then proceeding on to Algoma No. 3:
"How should the average rate adjustment calculation be completed?  What are the inputs and how often should it be reviewed?"


I will let Mr. Lavoie answer.  Maybe I could just indicate what the answer says.  It says:

"Please see response to Board Staff question 4(a)."

Which is the one question that we're actually deferring, I guess, for that general discussion relating to Board Staff's paper on the average rate calculation.


I think our answer is there, as alluded to by Mr. Millar, that effectively it's a neutral position on anything within the paper.  I think you can see the question there, and then maybe we could deal with it more fulsome when we deal with that issue later.


MR. CASSAN:  Yes, that's fine.


MR. HARPER:  Could I perhaps -- there is sort of a related question around sort of moving forward, and there was an interrogatory.  It struck me -- I was thinking about it and I didn't put it down in written form, but I was just sort of moving forward and understanding the company's position and how it's actually going to implement it.


I asked a question about sort of future rate-setting, and, I apologize, I can't recall the specific interrogatory reference, and there was a suggestion back that really what the company saw this doing is applying for a cost-of-service type application each year, and I think that was because it had to go through the RRRP process each year, which required establishing of a formal revenue requirement.


I am just wondering, you know, sort of -- so that at some point in time we would see an application from GLP distribution for 2008 distribution rates, you know, to be set, and then somewhat similar to the binder we got this time and again for 2009.  I just want to confirm the understanding of the process we're embarking on as we move forward here.


MR. SEABROOK:  It is GLP's intent to file a cost-of-service application for each rate year.


MR. HARPER:  Okay.


MR. MILLAR:  One final question on this issue.  I don't think it is a difficult one.


Throughout the rate design questions and in your application, you assumed an increase of 5 percent.  Obviously, based on the Staff discussion paper, it looks like that number -- it turns out it will probably be lower than that.


I take it that once that number is ultimately determined, there will be some impacts on the application, to the extent some of the numbers are going to change.  So I take it you anticipate there will be some updates based on whatever the final inflator is decided upon?


MR. SEABROOK:  Yes.


MR. MILLAR:  Okay, thanks.


MR. MATHER:  The discussion that we're having is that with the 5 percent increase, you have come up with the 20.97 and the 2.1 cents per kilowatt-hour for the -- for the R1 class and the $612 service charge and the $2.10 variable charge, kilowatt charge, for the R2.  That's 5 percent chosen more or less arbitrarily, I believe, and if that had been 7 percent, my mental arithmetic says that that would generate another $1 million, close to, based on the numbers on page 13 of the exhibit.


So the question is:  Why 5 percent and $1 million?  Why not 7 percent and no shortfall?  I think that is -- that's what we're still grappling with here.


MR. SEABROOK:  I think the 5 percent was used illustratively with regard to the average that we would be calculating today.


MR. MATHER:  So the $1 million of shortfall is illustrative, as well?


MR. SEABROOK:  Based on that percentage, yes, the $1 million will change.  It may go up or down.  I can't run the figures in my head.


MR. MATHER:  I guess that is the question, is when is goes up and down.  When do we see that, and how?


MR. FAUGHT:  Just to clarify.  The application is seeking a deferral account for that transition amount and the $1 million that is shown as the transition deferral is for illustrative purposes.  So it's not that we're seeking a million.  We are seeking a deferral account to record this deficiency.


MR. KEIZER:  I think the other issue of clarity is that under the regulation, it was always -- it's the Board's mandate, I think, to determine the average, and I think -- I think there was -- the number was put in, and I think it is clear on the evidence that effectively put in  -- they didn't want to prejudge what the Board was going to do or assess, or whatever else.


So, effectively, that was a number that was put forward, and recognizing obviously if the Board made a determination of an average that was different, that will affect what the rates will look like.


MR. HARPER:  Could I perhaps -- go ahead, I'm sorry.


MR. REID:  Just picking up on that last point, Charles, I think maybe asking this a slightly different way, it looks like that number is going to be lower, which would lead to a higher deficiency, and that would not lead you to change your design.  It will strictly change what goes into your deferral account?


MR. SEABROOK:  What we'll simply do is replace the 5 percent in the application with the new percentage that's determined, and any implications will be dealt with when we update the evidence.


MR. LAVOIE:  Perhaps another way to clarify it is that that -- again, the shortfall is not related to the increase or decrease in rates.  


When you calculate the subsidy and the -- based on regulations, it is current rates plus 5 percent, current rates plus 7 percent.  So the relative difference that you are talking about here moves with that.


So most of that shortfall is not related to the 5 percent versus 3 percent versus 7 percent.  It is related to the fact that I am reclassifying a customer into a different energy rate or a different demand rate.


MR. MILLAR:  But lowering the percentage will 

increase --


MR. LAVOIE:  It will --


MR. MILLAR:  Not on a one-to-one basis, but it will increase the size of the deferral?


MR. LAVOIE:  It will increase.


MR. HARPER:  Maybe to try and put it another way -- that's right.  If it is 2 percent, and let's assume the Staff -- the Board's calculation goes up 2 percent.  Then clearly if your current applied-for revenue requirement is approved, the amount of RRRP is going to increase.  I mean, that's the first thing that will come out of that.


If the Board Staff number is 2 percent, does that automatically mean that the residential rate that you are proposing would be the current residential rates?  The R1 rate that you propose would be the current residential rates plus 2 percent, necessarily, or could it be plus some other percentage, so that perhaps the -- you know, the deferral, sort of the size of the shortfall, would be different?  I guess that's -- sorry if I am not articulating this too clearly.


But, you know, to put it another way, you have decided that to some extent the impact on customers from a 5 percent increase in the residential rate is reasonable.  So if you just maintain that 5 percent, the deferral account would be less.  


Is there any reason why the residential rates have to go up by 2 percent or go up precisely lockstep with the number defined by the Board for the overall increase in revenue requirement?


MR. LAVOIE:  We believe that the regulation is fairly prescriptive on that, that the Board sets the rates based on the previous rate schedule and inflates that based on the average in the province, similarly to the way they calculate the eligibility for rural rate protection for those customers.


So we don't see it being a different rate.  We think the regulation is clear on it.


MR. SEABROOK:  I think if the rate changes to 2 percent, our proposal will be to implement that 2 percent rate for the R1 -- or the 2 percent increase for the R1, R2.


MR. HARPER:  Your view is that the regulation requires you not only to calculate the total revenue coming from customers by applying that percent to the previous year's rates, but to increase each of the individual customer -- if you have more than one rate, which you do, to increase each of those individual rates by exactly that same -- by that same percentage, as well?


MR. LAVOIE:  That's correct.


MR. HARPER:  Thank you.


MR. MILLAR:  I think that is it on rate design.  We are at about 20 after 12:00.  Maybe we should take our lunch break now.  We will get to the rest of the questions.  Is an hour enough, Mr. Keizer?


MR. KEIZER:  It should be fine.


MR. MILLAR:  We will come back at 20 after 1:00.


--- Luncheon recess taken at 12:20 p.m.


--- Upon resuming at 1:35 p.m.


MR. MILLAR:  Okay, I think we will go back on the record.

Algoma has not joined us, but I guess they can play catch-up when they return.

Mr. Keizer, I understand that you had or your witness panel had a response to the question raised by Mr. Frost, regarding the Handbook.

MR. KEIZER:  Yes.  There was a question of clarification raised, I believe, related to Board Staff question 3(e), in which the panel was asked to revisit the Accounting Procedures Handbook, and the guidelines relating to that and the account 1508.

So I believe they have done that and they have a response to that enquiry.

MR. MILLAR:  Thank you.

MR. FAUGHT:  Actually, the response to be that we will take an undertaking to refile this information in account 1508.

MR. MILLAR:  Okay.

MR. FAUGHT:  Given the new information from the Accounting Procedures Handbook.

MR. MILLAR:  Great.  That will be undertaking JT1.3, if I am not mistaken.
UNDERTAKING NO. JT1.3:  GLPL TO REFILE CHART IN RESPONSE TO BOARD STAFF QUESTION NO. 3(e)


MR. MILLAR:  That is to refile the chart found as response to Board Staff 3(e).

MR. MILLAR:  Are there any other preliminary matters, Mr. Keizer?

MR. KEIZER:  No.  I have none.

MR. MILLAR:  So I take it we are finished with rate design, and the next on the list is the RRRP matters?

MR. KEIZER:  Yes, that's correct which is found at tab 4 of Exhibit KT1.1.

The first question related to RRRP is Board Staff question 5, which says -- 5(a), which says:
"What are the potential total cost impacts and rate impacts on a retroactive increase in RRRP to September 1, 2007?"

MR. SEABROOK:  Just to clarify, before getting into the full answer of the question, it is GLPL's understanding that the regulation specifies an amount of rate protection that GLP is entitled to on an annual basis.

It is our understanding that this will be an annual amount, divided by 12, and will come in equal monthly payments, and therefore it is on that basis that this question has been answered.

The total additional cost to the RRRP pool on a monthly basis is approximately $544,000.  This is the net of the proposed monthly RRRP amount of 739,000, and this is one-twelfth of the annual amount proposed in the application; and the monthly RRRP currently received by GLPL of 194,500, and that's one-twelfth of the 2.3 million that GLP receives.

Therefore, if rates were retroactive to September 1st, 2007, and implemented, for example, on June 1st, 2008, the additional cost to the RRRP pool for that period would be approximately 4.9 million.

Now, that is the cost impact to the RRRP pool.  I would like to walk you through this table for the impacts on customer rates.

Under "residential", the table calculates a per-month customer impact of $1.93 per customer.  With that said, if we were to go back and implement a retroactive September 1st date, it would cost $1.93 per month from the effective date up to the implementation date.

The GS less than 50 class is calculated at a decrease of $42.  The GS greater than 50 class is an increase of $52.  The seasonal class is an increase of $5.67.  The large customer B class is a decrease of about $38,000.  And the increase in the street lights class is $9.69.

Now, based on this analysis, GLPL has concluded that making rates effective as of September 1st, 2007, would have no material adverse effect on customers, and with that in mind, the proposal will be to, upon the implementation date, we would apply the retroactive charges to the customers and apply the credits where they're applicable.  This would ensure that any customers who are eligible for the rate protection for the period would receive the appropriate rate protection.

MR. MILLAR:  This chart assumes that the entire 4.9 million, that that's how the 4.9 million would be addressed?

MR. SEABROOK:  The 4.9 million would not be addressed through customer rates.  The 4.9 million would be addressed through RRRP payments.

MR. MILLAR:  RRRP.  I'm sorry.  

If we could just have a second?  Thank you.  

MR. HARPER:  Could I just ask one clarification on this, Mr. Millar?

If I understand correctly, if I take the line which is total monthly increment -- that line there on your chart -- that's the total amount for each customer class on a monthly basis?  They would be either paying more or less during that period?

MR. SEABROOK:  That's right, for the entire class.

MR. HARPER:  I haven't done the arithmetic, but the negatives look to me to sum up to more than the positives.  So overall -- and like I said, I haven't done arithmetic -- but it would appear to me that if you were to go back and change the rates effective September 1st, GLP would be collecting less revenue on a monthly basis from its customers than it is right now.

MR. SEABROOK:  That's right.

MR. HARPER:  And this is despite the fact that we've got this theoretical rate increase coming in.  And this is where I have a bit of disconnect in my mind and I am just trying to sort it out.  Despite the fact that there is, supposedly, this rate increase taking place in terms of an increase in the revenues to be recovered from customers, the amount that we're actually going to be collecting from customers is less than they're currently paying in total?

MR. SEABROOK:  And I think that goes back to the customers moving from one rate structure to another.

MR. HARPER:  So if I was to add in here sort of the monthly addition to the deferral account, let's put it that way, that would end up making the whole sum across the bottom positive in the end?

MR. SEABROOK:  I'm not sure if I follow you, sorry.

MR. HARPER:  You said it was a matter of the customers moving between classes, and you have established a deferral account in order to capture the revenue shortfalls as a result of that?  So if I had another column here, which said "monthly posting to the revenue shortfall deferral account", then everything would work out, and I would have roughly a 5 percent increase in revenues off of existing rates?

MR. SEABROOK:  I think so, if I follow you properly, yes.

MR. HARPER:  Okay, thanks.

MR. KEIZER:  Then proceeding to the next question, Board Staff question 5(b).  It says that:

"At page 14 of the summary of the application, GLPL states that the amount by which forecasted revenue requirement exceeds the forecasted consumer revenue, is the amount of the rate assistance available to be paid to the distributor.  Yet Section 4(3) 1  of Ontario Regulation 442/01 only states: 'The Board shall calculate the amount by which the distributor forecasted revenue requirement for the year as approved by the Board, exceeds the distributor's forecasted consumer revenues for the year as approved by the Board.'  Please clarify how GLPL came to the conclusion in the sentence quoted from page 14."

MR. LAVOIE:  Our response to that, when we looked at the question we weren't entirely clear as to what aspect to the quote was being referred to.  So we have described a couple of thoughts that we had.

One distinction in the words "as approved by the Board" do not appear in the quote from the summary, GLPL acknowledges the determination of the amount arising from section 4(3) 1 is as a result of the Board's approval of the distributor's forecasted revenue requirement on consumer revenues.

And the distinction between the two quotes is a reference to "the amount available to be paid to the distributor."  The conclusion was made as a result of another provision in the regulation, that being paragraph 3, section 4, that the Board shall take steps to ensure that the amount equal to the amount calculated under 4(3) 1 for the year is used to provide the rate protection to eligible consumers in the class described in paragraph 5 of section 2 of the regulation.

MR. MILLAR:  Thank you.  We have no follow-up to that.

MR. KEIZER:  The next question is Board Staff 5(c):
"With respect to the RRRP calculations, please confirm whether or not GLPL has finalized the actual consumption values for its customers in 2007."


MR. SEABROOK:  GLPL does have finalized consumption for the calculation of the RRRP payment.  Overall, the consumptions were lower than what the forecast was, slightly lower, and, therefore, it resulted in a calculation of a slightly larger RRRP payment.

MR. MILLAR:  Thank you.

MR. KEIZER:  The next question is Board Staff question 5(d):
"Please confirm the amount of RRRP funding GLPL will receive in 2007 explaining for what time period, if any, GLPL is not using finalized actual consumptions beyond the 2.3 million per year GLPL has received since May 2002.  If GLPL is granted final rates effective..."

There is four scenarios, September 1, 2007, October 1, 2007, November 1, 2007, or December 1, 2007.

MR. SEABROOK:  Again, we will be answering this question on the same basis as was set out in 5(a), where the payment will be calculated on an annual basis and divided into monthly payments, based on the updated calculation using actual 2007 consumptions.  I mean, I would also like to clarify there would be no time period that GLP would be -- we would not be using finalized actual consumptions.

The annual RRRP would be 8,999,200, which would amount to 749,900 on a monthly basis, or 555,500 on an incremental basis to what GLP currently receives.

We have provided a table in response to that question, which outlines in (i) from the September 1, 2007 effective date, the incremental impact would be 2.2 million, approximately.

From October 1, 2007 effective date, the incremental costs would be 1.66 million.

From November 1, 2007, the incremental cost would be approximately 1.1 million, and from December 1, 2007 it would be approximately $555,000.

MR. MILLAR:  You currently get 2.3 million in RRRP payments?

MR. SEABROOK:  That's correct.

MR. MILLAR:  Do you receive them in 12 equal instalments?

MR. SEABROOK:  Yes.

MR. MILLAR:  Okay, thank you.

MR. KEIZER:  The next question is related to Board Staff question 5(e):
"Please update table 8.1.1(h), amount of rate protection as prepared in response to Board Staff IR No. 53 for each of the answers..."

Which are the four parts that are set out in Board Staff question 5(d).

MR. SEABROOK:  The table that has been provided here, the first table is a table reflecting the total amount of rate protection required by GLPL, and this is not taking into consideration the 2.3 that we currently receive.

The columns have been laid out.  The funding for September 1 to December 31 is in response to (i), in the previous question, and funding for October 1st to December 31st is in response to (ii), and so on.

Again, to clarify, that table is the total RRRP.  The table that we provided below is the total incremental RRRP on top of the 2.3 million.

Now, if you see, the total in the second table under funding for September 1 to December 31, will tie back to the response in the previous question of the incremental cost part, (i).  Again, for October 1st to December 31st, it ties back, as well.  Are there any questions on the table?

MR. MILLAR:  No.  Thank you.

MR. KEIZER:  Moving on, Board Staff question 5(f):
"Please confirm that as GLPL has been granted interim rates effective September 1, 2007, it does not require a deferral account as requested in its application to record revenue requirement deficiencies incurred from September 1, 2007 until GLPL's 2007 proposed rates are implemented."

MR. SEABROOK:  GLP is not entirely clear what the relationship is between the interim rate being effective September 1 and the elimination of the need for a deferral account.

However, with that said, assuming the Board accepts the approach set out in response to question 5(a), which we went over, which is, because the implementation to the customers would create no material adverse effects, GLP would apply the charges and credits upon implementation, that would eliminate the need for a deferral account.

MR. MILLAR:  I am not sure much actually turns on this, but my understanding of the way interim rates fit in with final rates is that once you have a date for interim rates, the Board can essentially do whatever it wants for that period between the interim rate date and the final rate.

A deferral account isn't strictly necessary to capture any amounts in that, because the Board has given itself the ability to adjust rates as it sees fit for that time.

Again, I am not sure anything actually turns on this, whether formally you need a deferral -- my view is you don't probably formally need a deferral account for this.

MR. SEABROOK:  Essentially we're coming to the same conclusion.

MR. MILLAR:  That's fair enough, then.  Okay, thank you.
FURTHER QUESTIONS FROM VECC:


MR. KEIZER:  I just have one point of clarification, and it is my oversight and it is partly because the Exhibit -- copy of Exhibit KT1.1 I am working with had a page misplaced, and that is that there was a question that VECC had asked, which appears in the copy of the exhibit that you have, that because it wasn't in my copy, we didn't deal with it this morning on the rate design.  So I obviously don't want to leave out a question by oversight.  

That was VECC question 5.3(b).  We dealt with 5.3(a), but 5.3(b), in my document I didn't see it, so we didn't deal with it.

So maybe if we could, just for completeness of the record, I just want to deal with that question, because I don't think we did deal with it.

That question for VECC 5.3(b) is -- and this is under your tab, panel, just so you are aware.  This is under your tab 3, is:
"For example, since it is very large R1 and R2 customers that are experiencing the bill decreases and alternative rate design for each subclass would be one with two tiers of volumetric charges and over a certain level, example, 3,000 kWh for R1 and 1,000 kW for R2, a slightly higher volumetric rate was applied.  Please comment on the appropriateness of such an approach."


MR. LAVOIE:  GLP feels the most reasonable interpretation of the regulation is the one described in response to 5.3.  That was VECC 5.3(a).  GLP recognizes, however, that there may be alternative rate designs that could be proposed by parties involved in the proceeding.

The rate design proposed by GLP has been created based on how GLP interprets the regulation, as we discussed earlier, and if the Board ultimately determines another rate design, including one that establishes more than two rates, is appropriate, then GLP obviously will implement the rate design.

MR. HARPER:  That's fine.  My main issue was just in understanding of whether or not -- there is nothing in the regulation that precludes this.  It is a matter of choice, I guess.

MR. MILLAR:  I take it we are going to skip the income taxes part for now, Mr. Keizer?

MR. KEIZER:  Yes, I think because there may be issues of confidentiality that may arise, that we would leave that to the end.

MR. MILLAR:  If we can move to tab 6, then.

MR. KEIZER:  Just as a point of clarification, I am assuming, then, dealing with Board Staff question, I believe it is 4, relating to the paper, are you going to -- we are going to deal with that after we deal with tab 6 and 7?

MR. MILLAR:  It is in tab 7 of my copy.

MR. KEIZER:  Oh, sorry.

MR. MILLAR:  Sorry, I misunderstood.

MR. KEIZER:  We have deferred so far, as part of the rate design discussion, the Board discussion paper.  I just wanted to clarify if we are leaving that to the end, as well.

MR. MILLAR:  I leave it to you, whenever you would like to deal with it.

MR. HARPER:  What I would suggest, it might make some sense, as we have been wrapping our mind around this issue, before we --

MR. HARMER:  To have it done now.

MR. HARPER:  -- zip into the cost of capital and other stuff, and then come back and try and wrap our mind again.

MR. HARMER:  It would make more sense to do it now than later.

MR. KEIZER:  Certainly for the transcript's purposes, it would all be in one place, all rate design and RRRP would be in one place, so it may be a good spot to deal with it.

MR. MILLAR:  Okay.

MR. HARMER:  I will start off if nobody else is going to jump in.

A paper was presented on with respect to how we determine proposed options for determining the adjustment factor will be.

We proposed a couple of options and sent them out.  Does anybody want me to go over what those two options are?  They're very similar.  We are assuming a couple -- the basic assumptions are -- if you have the document in front of you.  Is it an exhibit?

MR. MILLAR:  No.  I don't think it has to be marked.  Oh, no, it was sent separately.  Why don't we mark it just to be safe?  It will be KT1.3, I believe, and that is the Board Staff discussion paper on the average annual rate increase.
EXHIBIT NO. KT1.3.:  BOARD STAFF DISCUSSION PAPER ON AVERAGE ANNUAL RATE INCREASE


Mr. Harmer:  There are four basic assumptions that are outlined in the bottom of page 2 and top of page 3, which are sort of underlying the whole operation.

They're simply that the data be readily available and in the public domain, and that the calculation is relatively simple and straightforward.  The data set includes all of the bills of each distributor, so that all of Hydro One's acquireds are identified, and the 11 separate service areas with different rates for Chatham-Kent, for example, are included.

And the use of the change in the delivery component of the bills for residential class customers at a consumption level of 1,000 kilowatt-hours.

It is put forward that that assumption is that is a reasonable proxy for the average as calculated by the Board of any adjustment to rates approved by the Board for other distributors in the same rate year.

So those are the four underlying assumptions that were used in the development of these various options, and the two options are very similar.  The only difference between option 1 and option 2 is option 2, we used a weighted average reflecting the size difference between Toronto Hydro and Grand Valley.

And the first option is simply the adjustment of the average, simple average of the delivery charge component of a bill in 2006 and a bill in 2007, and the average taking those two numbers.  Excluding those distributors, A: that did not have a rate change between May 1st, 2006 and May 1st, 2007.  Or there are some unique distributors such as the First Nations distributors, the three First Nations distributors, or Hydro One remote communities, which have a unique circumstance, which was felt not to be -- shouldn't necessarily go into the determination.  I might add that if you include them, the end result is probably about the same, so it doesn't really make a large difference.

And obviously, we excluded GLPL from that determination as well.

MR. MILLAR:  As I understand it, Mr. Harper had been kind enough to prefile some questions.  I don't know that GLPL has any questions, aside from the -- they're not really questions, they're comments embedded within their response to one of our questions, which essentially was you're happy with either one.

MR. KEIZER:  I am not aware of any additional ones, but I am assuming if any arise through further discussion, the panel is free to ask them.

MR. MILLAR:  Of course.  Does Algoma have any questions regarding this discussion paper?

Maybe we will start with Mr. Harper, and if Algoma has questions they can pipe in.  Mr. Harper?

MR. HARPER:  Actually, the questions were mainly just to in my own mind clarify, to a large extent, how the calculations were done, so that we all understand.

The first one -– and I think I understand it -- was with respect to most utilities have a smart meter rate adder on their residential customer charge.  And I was just curious, I assume the calculations you did included both a rate adder for 2006 and the rate adder for 2007, to the extent that there was one.

MR. HARMER:  To the extent that there was one.  All I have basically looked at, to be perfectly honest, is the level of the bill.  I did not calculate, or didn't go into the actual rates that were set up.  

I have used what is on a sort of public document calling the delivery charge for each distributor, how that's -- the rates associated with that.  So, yes the smart meter adder may have changed.  I don't know.

MR. HARPER:  I think this is an issue that I think GLP in its response had filed as well.  When you say "delivery charge", that means that the charges there will be picking up not only the approved changes in distribution rates for each of the LDCs, but also any approved changes in the retail transmission rates that they would have had in 2006 as opposed to 2007.  You would be looking at the total bill impact, because when you said "delivery" I assume that was both transmission and distribution charges?

MR. HARMER:  That's correct.  I used a standardized bill format, which is: the delivery components of a standardized bill format has the distribution rates, the retail transmission rates, all into that amount, into that number.  So, yes it does include any changes -- if there were any changes in the retail transmission rates, they would be reflected in that bill.

MR. HARPER:  I was just thinking forward to, say, 2008 where most utilities will be probably reducing their retail transmission charges by something in the order of 5 to 20 percent, depending upon the mix between networking connection, and that will feed through the delivery charge portion of the bill.

MR. HARMER:  On a going-forward basis as opposed to the establishment of the factor, the concern is that maybe on a going-forward basis the inclusion of a retail transmission service rate component may not necessarily be a good representation for the increases to the average increase to other distributors, because the distribution component --

MR. HARPER:  That was a concern I was raising, yes.

MR. HARMER:  Okay, all right.  Once we start to break down the delivery component, again -- using the overriding assumption or the overriding guidance in the data is readily available and is on sort of accessible public domain -- once we get into a determination of amounts for the distribution component only, we start to lose that ability to point to something that's in the public record, sort of thing.

An easy way, on a delivery charge, is simply that's what shows on our website, for example, that column.  It's that set of data.

Once we again take away or start to remove the retail transmission rates, that will be a level of complexity.  However, I do agree that in May 2008 rates, the rates that are currently being processed to take effect between May 2008 for all of the other distributors, typically see a reduction in their retail transmission service rates, reflecting the reduction in the uniform wholesale transmission charges.

And they could be significant in some cases.  So it would have an impact on next year's factor for GLPL.

MR. HARPER:  Equally, when Hydro One comes forward this year and talks about transmission rates for 2009?


MR. HARMER:  Yes.

MR. HARPER:  Yes.

MR. HARMER:  I guess the more overriding question is whether or not this is an approach which was as good as any other.  Is there another approach?  Rob.

MR. REID:  I haven't followed this very closely and I hope I am not opening up another can of worms, but the whole comparator cohorts process that's going on, is there any reason to think that the group that GLP would be put into would be a better group to average than these?

Some of the thoughts I guess we had was, it would seem to make sense that similar utilities would have similar rate adjustments and when you factor in something like Toronto Hydro, especially on the weighted side, they're going to skew that weighted average considerably.

So is that really, at the end of the day, is that really a proper, you know, comparator, even if the number at the end of the day looks reasonable?

MR. HARMER:  I think first response is the regulation kind of directs us as to how we're to determine it.  It identifies it as distributors, all other distributors or other distributors in the rate year.

So I could dig out the –-
"Shall be adjusted in line with the average as calculated by the Board of any adjustment to rates approved by the Board for other distributors for the same rate year."

Now, I agree that "other" doesn't necessarily mean "all" and we have, to be honest, excluded some in our calculations.  So that going to a cohort of GLPL is an option which might be of -- I don't know how many other distributors would be in that cohort.  I am not familiar with the cohort comparators.  

MR. REID:  Yes.  And I don't have that information either.


MR. MILLAR:  Mr. Harper, are you finished with your questions?


MR. HARPER:  No.  There was just one final thing that was sort of in the back of my mind, and it actually goes to the process I talked about in terms of even going forward in terms of the annual rate increase.


Sorry, you were looking at May 1st, you know, changes May 1st, 2006/May 1st, 2007.  I guess I was just wondering whether there were -- Board Staff, you made the comments that while there may have been utilities that got a 2007 rate increase after May 1st -- and that's one issue.


That raised with me the question of:  Could there have been utilities that got a rate increase after May 1st, 2006?  You know, they -- for some reason they had rates approved effective June 1st, 2006, and other rates approved May 1st 2007, and your calculation is basically picking up two years' worth of rate increases instead of one.


MR. HARMER:  There could have been.  I must confess I did not do a thorough check to see how many rates were changed from May 1st, 2006 to May 1st, 2007, but there may have been some.  There were about half a dozen distributors that had rate changes subsequent to May 1st, 2007 or until the end of 2007, until December 31st, 2007, which, again, I did not take into consideration the calculation.


MR. HARPER:  The reason it was in the back of my mind is, you know, 2007 for most utilities was this third -- was, excuse me, 2nd generation IRM adjustment, which was typically in the order of -- well, somewhere between zero and -- it was -- definitely wasn't up around 2 percent for most utilities.  It was less than one and sometimes even less than zero, and so I was kind of surprised when I saw the average come out at two, to be honest with you, in the grand scheme of things.


That was one of the reasons why I was thinking that it might have been a contributing factor to it.


Do you have any comments in terms of -- you know, just if we know what the IRM adjustment mechanism was yielding with the tax changes.  Like I said, it seemed to be sometimes even negative.  The 2 percent seemed kind of surprising to me as a result.


MR. HARMER:  To be honest, no, I can't.


MR. HARPER:  Okay.


MR. HARMER:  Perhaps the last part of this issue is the going-forward aspect of it.  This current adjustment factor.  As I understand it, will be presented to the panel in this proceeding, and the panel would then opine on whether it is appropriate or not, or -- given the discussions we have had here.


But on a going-forward basis, does this have enough validity or does it have legs to go -- going forward to next year's application?  


Speaking a bit to Mr. Harper's comments, it may be over -- yes, there are IRM applications and there are some 60 IRM applications this year for May 2008, but there are also 20-some-odd cost-of-service-based applications, which would also perhaps be reflected, although I am not sure how many of them are going to be in as effective May 1st, 2008.  So that is the offsetting kind of thing.


No.  Mr. Millar just mentioned whether or not we should be looking on a going-forward -- like, what happens the following year?  We are currently dealing with this application in this proceeding, so the adjustment factor as determined for this proceeding is what we're sort of looking for right now.


MR. MILLAR:  Do we have any further questions on that issue, on the Staff discussion paper and the two proposals put forward?


MR. REID:  Just along those lines, though, maybe going the other way, would it make sense to look at some historical information to see how this would have changed if this had have been used?


MR. MILLAR:  What do you mean?


MR. REID:  I am always hesitant to just, you know, okay, we looked at one year and here is a number, and people say, yeah, that is generally a good number, but there may have been something, um..., strange in that year that wouldn't have impacted -- happened previous years.


MR. MILLAR:  I think, again, the regulation speaks to that issue.


MR. HARMER:  Again, I have not done a check of previous examples to take from 2005 to 2006, for example, or to -- to see whether or not the answer that comes out as a result of this analysis is typical or atypical, so...


The regulation directs us to do it this way, but in response to Mr. Reid's comments, we haven't done a sanity check as to whether or not the results that that resulted was similar to a previous year determination.


MR. MILLAR:  I think our view would be we can only do what the regulation tells us to do, and that is for a one-year period.


MR. REID:  Well, this might be more of an argument, but the -- as we just said a minute ago, it says "other distributors".  It doesn't say all other distributors.


MR. MILLAR:  That's a different point.  That is not historical; right?


MR. REID:  Well, no, but I think if we saw how different distributors have reacted in the past few years, what their rate changes have looked like over that period of time, that may lead us to a group that is a more indicative group and therefore should be used moving forward as the group to use when calculating this number.


MR. MILLAR:  Do we have any more questions on this topic?  Okay, thank you, Mr. Harmer.  I guess we will get back to our regularly scheduled questions of GLPL.


Are we on tab 6 now, Mr. Keizer?

Questions on OM&A Expense and Rate Base 


MR. KEIZER:  We are on tab 6, which are, I guess, questions relating to OM&A expense and rate base.


So the first question relates to Board Staff 1(d), which is: 

"What is the rationale regarding the 14 percent increase in total compensation for non-unionized employees from 2005 to 2007?"


MR. FAUGHT:  The total non-unionized compensation increased 406,000 between 2005 and 2007.  For the same time frames, the total non-unionized regular employees increased by five, from 29.7 to 34.6.


The reasons for the increase in the total non-unionized regular employees is discussed in the Board Staff Interrogatory No. 14, and GLPL submits the increase in total compensation of 406,000 is reasonable considering the increase of five FTs.


MR. MILLAR:  Just one moment, please.


Okay, I don't have any follow-up to that.


MR. KEIZER:  The next question is -- relates to VECC No. 1, part A, and the question is:

"The response to VECC Interrogatory No. 9 states that there are advantages to owning versus leasing.  However, the 110,000 is for the buyout of an existing lease.  Did GLPL undertake a business case assessment as to economics of buying out the existing lease?  If so, did the results demonstrate an overall benefit to ratepayers?"


MR. SEABROOK:  GLPL has provided an analysis in the response to this question, which makes a couple of assumptions in terms of capital cost of a vehicle and associated lease payments.


What we basically get out of this table is that it is beneficial to the customer for the distributor to purchase the asset as opposed to leasing the asset on a long-term basis, of course.


In this particular case, referred to in the question, there was uncertainty over the length of time the vehicle would be kept, and, accordingly, the decision was made to lease.  Once the decision was made to keep the vehicle longer term, in accordance with the analysis, GLPL adopted to buy out the lease.


MR. HARPER:  Thank you.  That's fine.


MR. KEIZER:  The next relates to VECC question 1.2(a):

"GLPL indicates that transformers are only replaced due to end of life or failure.  Please explain why the expenditures in this area are forecast to escalate from 104,204 in 2005 to 220,000 in 2007.  If due to increased forecasts for replacement/failure, on what are these forecasts based?"


MR. FAUGHT:  GLPL has stated in its evidence at Exhibit 2, tab 1, schedule 1 on page 11, line 20, that transformer replacements are untaken for end of life, failure or for voltage conversions.

When we have stated in the response to VECC Interrogatory No. 9(a) that, essentially, all transformer replacements due to end of life replacements or failures replacements, in this context, is meant to indicate situations where transformer is purchased to replace one that is scrapped because it can no longer be used by GLP.

The transformers that are returned to the spare transformer pool are not necessarily of the same voltage as all transformers replaced due to end of life or planned projects in the same or the following year.  As a result, new transformers must be ordered in addition to end-of-life replacement transformers, to accommodate projects such as voltage conversion, PCB replacements, as well as certain line sections that are converted in conjunction with the reconductoring program.

So we have set out two tables below, indicating the costs from 2005 of 104,000 and in 2007 to 220, but also laying out the number of transformer replacements in total.  That goes from 61 up to 110, and then down below is a reconciliation, based on end-of-life transformers.

So as you can see in 2005, the base replacements is 27, and within reason, in 2006 goes to 31, and then 34 in '07, and the adjustments because of PCB replacements, voltage conversion project or the reconductoring project that is ongoing, gets us up to the total replacements for transformers.

MR. HARPER:  That's fine.  It was really the part of the response that led me to think they were all just replacements that sort of led to it, so that helps clarify it.  Thank you.

MR. KEIZER:  The next question is VECC question 1.3:
"Please confirm that the consumption values reported in VECC Interrogatory No. 34(b) are the forecast values for 2007.  If not, please provide GLPL's forecast kWh sales for each customer class, including those that are demand-build for 2007."

MR. SEABROOK:  We confirm that the values used in the response to VECC Interrogatory No. 34(b) are the forecast 2007 values.

MR. HARPER:  Maybe just as a follow-up to that, and it will probably touch on the next question as well, I think in your discussion, when we talked about the RRRP you were mentioning that you had the actual consumption volumes for 2007 now, and they were down somewhat.  You seemed to say that you would be using those actuals in your calculations.

MR. SEABROOK:  Yes.

MR. HARPER:  So I was wondering whether your proposal was to update the submission to reflect the actual consumption values for 2007, you know, for purposes of what are the final rates and revenue requirement that you will be requesting.

MR. SEABROOK:  Yes.  I think you mean in terms of the working capital --

MR. HARPER:  Yes. 

MR. SEABROOK:  -- piece of rate base?  Yes, we can update those.

MR. HARPER:  That then will answer my 3(b), as well, then.  That's fine.

MR. MILLAR:  I'm sorry.  I was daydreaming.  I wasn't daydreaming.  I was reading something else.  We're at JT1.4.  Could you repeat what the undertaking is?

MR. HARPER:  I think we talked earlier about the fact that GLP had the actual consumption values and I think --

MR. MILLAR:  They have agreed to provide that?

MR. HARPER:  3(b) talks about reconciling a number of different forecast values for working capital calculation.  Now that we have the actuals, well, we can all -- it can be based on one set of numbers.  I think they indicated they would be updating their working capital values to reflect the actual consumption values for 2007, if I am not mistaken.

MR. SEABROOK:  Yes.

MR. HARPER:  Probably if we had the number, what that meant in terms of change in the application, I think that was a requested undertaking.

MR. MILLAR:  What exactly was the undertaking?  

MR. SEABROOK:  We will update our consumption values for actual 2007 for calculation of the working capital piece of rate base, working capital allowance.

MR. MILLAR:  Thank you.  That is JT1.4. 
UNDERTAKING NO. JT1.4:  GLPL TO UPDATE GLPL CONSUMPTION VALUES FOR ACTUAL 2007 FOR CALCULATION OF WORKING CAPITAL ALLOWANCE


MR. KEIZER:  The next question relates to VECC, so we'll skip, obviously, VECC 1.3(b), because that, I think, has been answered.

MR. HARPER:  Yes, that's fine.

MR. KEIZER:  So on to VECC 2.1, the question 2.1(a) relates to:
"The response to OEB Staff Interrogatory No. 14 suggests that the increase in non-unionized staff between 2005 and 2007 was to replace temporary staff.  The increase in staff occurs from 2006 to 2007."

There is a reference to Exhibit 4, tab 2, schedule 4, page 1.
"However the savings, which is 159,400, per VECC Interrogatory No. 16, appear to be significantly less than the increase in wages and benefits attributable to the six new staff."

That's 81.7 times 6, equalling 490,200, per Exhibit 4, tab 2, schedule 4, page 2.  The request is to please reconcile.


MR. FAUGHT:  In preparing the response for this question, we noted an omission in the 2007 total compensation by a group in table 4.2.4C.  We have provided a revised 4.2.4C in this response.

The updated number is down below in table 3, under "non-unionized forecast 2007".  Original filing was 1,632,000.  It has been updated to 1,774,000.

Now, the overall impact to distribution as a result of the staffing changes that we have shown in the prefiled evidence and in interrogatory responses can be illustrated in the table below, which is actually the next page.

Just as a point to determine an expectation of what the increase in distribution costs related to the additional FTEs would be, the actual increase in total compensation is 406, as shown in table 4.2.4 B of the prefiled evidence, as well as OEB Staff Interrogatory No. 15.

The suggested increase of 490 in the question as a result of the additional FTEs is gross compensation, whereas the numbers referenced in the OM&A variance, as referenced in the question, is a savings of 159,400, are really distribution-only costs.

So to perform a proper comparison, the total non-unionized compensation charge to distribution has an actual net increase of 255, as shown in the new table provided on the previous page to this response, that being the difference between 1,774,000 forecast for 2007, and the 1,519,000 from 2005.

This increase is offset by the savings referenced in the question of 159.4 K.  However, there is additional savings related to other accounts, because the 159 is specifically to account 5630, which is contracts.  There are other savings related to billing contracts that are found in accounts 5305 through 5340, as shown in the table above.

So just to walk down the table again, just to go through it, the total increase in compensation actual is 406.  In the note provided, we have made an assumption that two out of the six full time equivalent increases are non-distribution employees, given that four increase in accounting.  But it's a 50/50 split between distribution and non-distribution, because of the shared service allocation.  So two of those individuals would be allocated outside.

So the remaining four are distribution costs.  So with that split, we had an expectation of 270,000 that would be a distribution impact, and we see that the actual impact is 255 from the revised table.  So I think that is a reasonable number based on the expectation.

The savings from account 5630 of 159, plus the additional savings of 65,400 in the other accounts, totals 224,000, which leaves an increase overall at the distribution costs of 30,000, which can be attributed to other salaries and regular payroll burden increases.

Does that make sense?

MR. HARPER:  That's fine, thanks.  Thank you.  

MR. KEIZER:  Next is to VECC question 2.2 -- 

MR. CASSAN:  Charles, before you move on.  In the transmission application, there was an audit being set up looking at the allocation of costs between OM&A.  I think that that has been started.  What's the status on that?


MR. KEIZER:  In terms of the allocation transfer pricing or the allocation of costs within the transmission entity and how that works?


MR. CASSAN:  Right, because that could affect the way that the FTEs have been allocated, distribution to transmission.


MR. KEIZER:  Well, the transmission -- this application relates to the year for 2007.  That study emanating from the transmission rate proceeding settlement is being prepared and would, I guess, form part of the transmission rate filing for GLPL, which I guess under the terms of settlement has to be filed before the end of this year.


So it would not find its way -- subject to correction by the panel members, it would not -- that report would not find its way into these shared allocation numbers, not yet, because the timing doesn't work.  Is that fair, panel?


MR. LAVOIE:  Yes, I think that is a fair assumption, Charles.


The other point that we think we should clarify is that the undertaking to perform that analysis was related to costs that were shared between transmission and the generation side of the business and not specifically for transmission to distribution.


MR. CASSAN:  Okay.


MR. KEIZER:  VECC question 2.2(a):

"GLPL distribution has allocated a portion of various shared services.  Are the amounts set out in the table in VECC Interrogatory No. 17 the total cost of each shared service, or the portion allocated to the distribution business?"


MR. FAUGHT:  These costs are distribution-only costs.


MR. HARPER:  Thanks.


MR. KEIZER:  The next question is VECC 2.2(b):

"What is the reason for the increase in MSP costs from 2005 to 2007?"


And that's 17 percent.


MR. FAUGHT:  The MSP costs increase 17,800 between 2005 and 2007.  The addition of a supervisor for the MSP group increases the overall cost pool to be allocated out, and the increase shown in GLPL distribution is their portion of that.


MR. HARPER:  That's fine.


MR. KEIZER:  I was waiting for Mr. Harper.


MR. HARPER:  I was like Mr. Millar.  I was daydreaming a little bit.


MR. KEIZER:  The next is VECC question 2.3(a): 

"Please explain the reasons for the reduction in bad debt expense in 2005 and 2006 versus 2003/2004.  Why is it reasonable to assume it will increase materially in 2007?"


MR. FAUGHT:  GLP uses actual account write-offs to record its bad debt expense, and, accordingly, the decrease that is referred to in the question is due to simply decreased delinquent accounts in those time periods.


GLP has calculated the 2007 bad debt expense for this application based on the four-year average of 2003 to 2006.


MR. HARPER:  I guess that was because what happened in the first two years, 2003 and 2004, were quite high, and then 2005/2006 were quite a bit lower.  By using the four-year average, you're almost implicitly assuming that your delinquent accounts are going to be increasing again, whereas the trend seemed to be that they were going down over time.  


I was just curious as to -- is there any specific rationale for assuming that they would be going up again?


MR. FAUGHT:  Not exactly, you know, any particular rationale to say that it will go up, other than to say that for, you know, forecasting what bad debts would be, you know, we believe a reasonable approach is to use a four-year average.


I guess as a point of clarification, the fact that we used actual delinquent accounts and the point I am trying to make in that is that there are no extraordinary adjustments made in these numbers.  That may bring them down below -- it is the case that, you know, it's the actual write-off of customer accounts that contribute to the historical numbers.


MR. LAVOIE:  To put it another way, because we rely on past experience as being the driver of setting our forward-looking number, that we don't put more level of sophistication into determining that, and we're not clear as to exactly the driver of it going down.  So it is not unrealistic for us to think it might go up in any given year.


Likewise, if the trend does keep continuing to go down, it would then reflect an average number that we have.


MR. HARPER:  I understand where you are coming from.


MR. KEIZER:  The next is VECC question 3.1:  

"What was the basis for the currently approved 1.075 capital DL -- sorry, DLF, for example, was it calculated using historical data and, if so, what years' data?"


MR. FAUGHT:  The currently approved distribution loss factor was estimated by GLPL prior to market opening in 2002.  The estimate was based on professional judgment at the time and proven to be a reasonable, accurate representation of the actual distribution loss factor.


The loss factor proposed in this application is based on actual calculations of the distribution loss factor in response to Board Staff Interrogatory No. 49.  We're proposing to update the loss factors based on historical averages.


MR. HARPER:  Thanks.


MR. KEIZER:  That ends the rate base OM&A expense part.  I guess we can move on to --


MR. MILLAR:  Why don't we do tab 7, and then we can probably take a short break and move to the taxes issues?

Questions on Cost of Capital


MR. KEIZER:  Moving on to tab 7, which relates to cost of capital, the first question is Board Staff question 2(a):

"Is GLPL going to use the Board's cost of capital policy?  If not, why not?"


MR. SEABROOK:  As was outlined in GLPL's response to Board Staff Interrogatory No. 10, GLPL will not be implementing the Board's cost of capital policy for the 2007 rate year.


It's our understanding that in the 2007 IRM process, the ROE and return on debt numbers were held constant.  Because GLP did not apply for distribution rates in the 2006 EDR process or the 2007 IRM process, it's unable to determine how the change in GDP IPI would have implicitly affected the ROE and return on debt in the 2007 process.


Therefore, GLP is proposing the 9 percent ROE and 6.25 percent return on debt that was used in the 2006 EDR process to be maintained for GLPL's 2007 rates.


MR. MILLAR:  The current ROE, the most up-to-date figures from the Board are about 8.57; is that right?


MR. SEABROOK:  Yes.


MR. MILLAR:  I hate to take things on to a theoretical level here, because I don't understand the theory very well, so interject if I've got this wrong.


But, as I understand it, the ROE is meant to be a proxy for the rate of return you would have to offer to attract capital investment?


MR. SEABROOK:  That's my understanding.


MR. MILLAR:  Okay.  I thought you were going to interject.  It's the rate of return you have to offer today; right?  It doesn't reflect the historic numbers you would have had to offer, you know, five years ago, one year ago, three years ago.  It's the number you need today to attract capital investment?


MR. SEABROOK:  Yes.  I guess we would just reiterate that this application is based on a 2007 test year.


MR. MILLAR:  Right, but it is not 2007 anymore, is it?


MR. SEABROOK:  We've requested rates effective in 2007.


MR. MILLAR:  But the capital investment you are going to do, you will -- theoretically, you would be attracting capital today or in the future?


MR. SEABROOK:  Yes, yes.


MR. MILLAR:  So why wouldn't you use the most up-to-date ROE numbers, then?


MR. SEABROOK:  It was our position that based on the 2006 EDR handbook, the rate was set at 9 percent at that time, and that's the rate in place, to the best of our knowledge, for our distributors in the province.  That's our position on the matter.


MR. MILLAR:  Okay.  I don't think we disagree with what the EDR -- the 2006 handbook says.  Maybe this is more a matter of argument than a matter for questions.

Okay, we don't have any further questions on that.

MR. KEIZER:  Moving on, then, to the next question, which was VECC 4.1(a):
"Please confirm that cost of debt applicable to GLPL distribution for regulatory purposes is the OEB-deemed debt rate for the rate year in question."

MR. SEABROOK:  I guess this is the same topic, and we hold the same position here.

MR. MILLAR:  Yes.  I don't have any further questions.  I think I understand your position on that.  Mr. Harper, did you have anything?

MR. HARPER:  I guess, then, maybe the fine distinction is you made reference to the 2006 EDR in your response to Mr. Millar, and carrying forward from that, I think you also mentioned that you didn't have a 2006 EDR application, if I am not mistaken.

MR. SEABROOK:  That's correct. 

MR. HARPER:  So there was no approval even in 2006 of, say, 6.25 percent to debt rate for GLPL?

MR. SEABROOK: That's correct.  We did not have that rate approved in 2006.

MR. HARPER:  The genesis of this question was, in reading through your financial statements, I noted there were comments there about the applicable debt rate being the rate deemed by the Board.  I am paraphrasing what is in your financial statement.  Please correct me if I got the paraphrasing wrong, but that's really where I was coming through to this, is that the way you viewed your debt rate as being set, is that it is based on whatever the deemed rate the Board has set for the particular year in question?

MR. LAVOIE:  I think that reference in the financial statements is referencing the rate that is deemed by the Board.  I think the deeper context there is what the Board has approved based on a deemed rate.  

So I think it is meant to establish what it is from an approved basis.

MR. HARPER:  So that rather than deemed, it is whatever rates have been approved by the Board for an application by GLP, then?

MR. LAVOIE:  Yes.

MR. HARPER:  Thank you.  Actually, it was just when I was -– and maybe I can ask it here, because it sort of ties in.  I was reviewing your financial statements again this morning when I was sort of reading through these questions, and I noted that there were some debt you had on your financial statements that was actually from, I guess, whether you call it parent or affiliate or whatever, at a no-cost rate, if I am not mistaken.  Like you have some 12,000-something at the 6.25.  There is also a tranche of debt from your affiliate, which I think was stated to be at no cost.

[Witness panel confers]  

MR. HARPER:  I can give you the reference in the financial statement, if you like.  It's page 7 of the financial statements that you filed.

[Witness panel confers]

MR. FAUGHT:  Sorry, Mr. Harper, which page are you referring to?

MR. HARPER:  I was looking at page 7 of your 2006 financial statements.  It is note 3C.  If I understand note 3D, which deals with the 20,050, that is the one we have been talking about, the 6.25 percent.  But I was referring to this other tranche of debt, which is, it states, is from another division of GLP.

MR. FAUGHT:  So back to your original question.  You are asserting that there is an additional 12 million that's non-interest-bearing?

MR. HARPER:  Right.  Yes.  So VECC is asking:  You have another 12 million in debt that is really non-interest-bearing, if I'm not mistaken.

MR. FAUGHT:  That's correct.

MR. HARPER:  So then I guess I was wondering if you are going through and working out an average cost of debt for your company, why you wouldn't have -- as opposed to proposing it all at 6.25 -- propose a portion of it at the zero percent and another portion of it at the 6.25, and work out a weighted average of the two.

MR. LAVOIE:  I think, quite clearly, this is evidence of the draw on the corporation of not having sufficient revenues, and this has been support -- that operating debt facility has been support of this business by affiliate divisions or company.   And I think it clearly does come at a cost.  It hasn't been reflected in distribution, in this distribution application, and it is to the benefit of ratepayers at this point in time.

But I think it would be inappropriate to show it at zero.  The parent company chose not to charge its division an interest cost.  I think it is to the benefit of ratepayers at this point.  But clearly it is a debt to the organization.

MR. SEABROOK:  I think something important to note is that for the application's purposes, the debt is a deemed structure and a deemed rate, and on a stand-alone basis.

MR. HARPER:  Okay.  Well, I think beyond this point we start to get into a bit of argument, so I have raised my point.  That's fine.

MR. MILLAR:  Is that all of the questions except for tax, Mr. Keizer?

MR. KEIZER:  I believe there was just one last question, which was VECC 4.1(b).

MR. MILLAR:  Oh, yes, I'm sorry.

MR. KEIZER:  "Please confirm if the Board had issued 
direction on the appropriate deemed long-term rate for 2007, this is the rate that would have been appropriate for GLPL to use."

MR. SEABROOK:  GLP maintains its stance that the debt rate that they're proposing was this 6.25 percent used in the EDR process.  It's their opinion that that is the appropriate rate.

MR. HARPER:  Thank you, I understand.

MR. KEIZER:  That completes all of the questions, I believe, that were posed, other than the income tax questions.

MR. MILLAR:  I think what we will do is take a break.  But before we do that, as I understand it, the only issues left are income tax-related issues, and we may have to go in camera for much or all of that.

But before we even get to that, Mr. Cassan, did you have any questions that aren't about income taxes left to ask the company, or any questions about income taxes, for that matter?

MR. CASSAN:  Tim, in your presentation, when you were talking about trying to resolve the shortfall issue, you indicated -– I don't have the page number, but the title of the slide is "potential rate impacts".  You were looking at allocation of assets and the possibility of transferring assets.  I may have the wrong page.  Sorry, it is called "potential rate impacts post-2005, continued."  It is the top bullet.  It says:
"GLPL sought alternatives.  For example, deeming distribution assets as transmission assets under section 84, raised as an issue in the transmission rate case."

Can you give us some detail on what was done in that respect?  Did you do an analysis?  Did you do any transfer of assets?  If you didn't, why?

MR. LAVOIE:  Sorry, I didn't hear the question, just the last part.

MR. CASSAN:  I am just asking if you did any transfer of assets.  If you did not do any transfer of assets, why did you not?

MR. LAVOIE:  Well, I think it would be very inappropriate to transfer any assets amongst, from a distributor to a transmitter, because it is very clear that those assets belong in those respective areas by virtue of legislation.

I think the only way you could do that is through a deeming, through permission of the Board to move assets from one division to the other.

MR. CASSAN:  You referenced the transmission rate case and one of the portions of the settlement was that you were going to look at, for instance, the line that goes from Anjigami to Dubreuilville, moving that out of distribution and into transmission because of the nature of it.

So I took from your presentation that you were looking at that.

MR. LAVOIE:  I think in the context of my presentation, it was certainly -- GLP was looking at the time for ways to reduce the impacts to customers, and that idea of deeming assets from a distribution to transmission was an issue discussed at the transmission -- in the transmission settlement and it was a consideration that GLP had to make as part of its transmission settlement, to consider that for a particular stakeholder at the time.

That led to us thinking in a broader sense in terms of:  Is this a broader solution that could be put into our distribution business such that you could deem some assets or all of the assets of your distribution business and recover those against transmission consumers?

MR. CASSAN:  Right.

MR. LAVOIE:  So we considered that as a solution to this rate issue, as opposed to the RRRP regulation that we currently have in front of us.

MR. CASSAN:  And you chose not to do any of that or you decided that you could not do any of that; is that what I am understanding you to say?

MR. LAVOIE:  I think our consideration for relief was satisfied with the RRRP solution that we have in front of us, such that we didn't feel we needed to consider, in the broader sense, anything further.

MR. CASSAN:  So you did not make a decision on transferring assets, then, because you believed the solution is the RRRP?

MR. LAVOIE:  Yes, yes.

MR. CASSAN:  Did you do an analysis on the impact that transferring particularly the long distance lines would have had?

MR. LAVOIE:  We had looked at the time at various options.  I know that in a general sense we looked at when you move asset base from distribution to transmission, you move costs and there is a result.  So we have done some high-level analysis of what that would mean.

But it is really a straight movement of revenues, similar to RRRP here, out of the distribution world into the transmission setting.  So it is certainly -- I mean, in our brainstorming, we had done some high-level numbers.

MR. CASSAN:  Can you produce those for us?

MR. LAVOIE:  I guess I would have to get some context around -- I mean, we could certainly pull an example of what we were looking at.

I think it is clear this was a brainstorming exercise that the company was doing and there is no specific analysis that...

MR. CASSAN:  Okay.  Well, if you can give us some indication of that exercise and how it worked out, we can build on that, I think, for our evidence.

MR. LAVOIE:  Certainly.

MR. MILLAR:  JT1.5.  I am not sure how to characterize it.  This is to produce some analysis, or, Mr. Cassan, do you want to try and --

MR. CASSAN:  Perhaps produce the high-level analysis undertaken by Great Lakes Power in considering the possibility and impact of deeming distribution assets as transmission assets.
UNDERTAKING NO. JT1.5:  PRODUCE HIGH-LEVEL ANALYSIS UNDERTAKEN BY GREAT LAKES POWER IN CONSIDERING THE POSSIBILITY AND IMPACT OF DEEMING DISTRIBUTION ASSETS AS TRANSMISSION ASSETS.


MR. MILLAR:  Okay.  Mr. Cassan, was there anything else?

MR. CASSAN:  No.

MR. MILLAR:  As I mentioned, we are going to be getting into income tax issues next.  Much of it will probably be confidential, so we will have to clear the room.  We will go in camera and clear the room of people who haven't signed the undertaking.  We do have some copies of the undertaking.

I don't think -- Mr. Harper or Mr. Cassan, I don't know that you have signed it.

MR. HARPER:  Yes.

MR. MILLAR:  Mr. Harper has.  Mr. Cassan?

MR. CASSAN:  It was sent to me when I was --

MR. MILLAR:  You did intend to sign it and stay?

MR. CASSAN:  My understanding was that there was going to be some discussion about whether or not this would be confidential, first.

MR. MILLAR:  Yes.  I understand -- well, I think there are certain, there are probably a few of the questions that won't necessarily entail confidential materials, but I am fairly certain -- Mr. Skinner is actually asking the questions, but I don't think it will be too long before we get into confidential materials, if I am not mistaken.

MR. SKINNER:  It's possible, but there is actually something on the public record.  There is actually something on the public record that I thought would have been considered confidential, so I am a little confused myself as to the need for confidentiality.

MR. MILLAR:  Perhaps we can work it out over the break.

MR. KEIZER:  I am not sure what Mr. Skinner is referring that is confidential.

MR. MILLAR:  The Board has issued -- in PO No. 5, what the Board said is on, an interim basis, these documents will be considered confidential.  So if anyone wishes to stay, they will have to sign the undertaking.  The undertaking may lapse if it is ultimately found they aren't confidential.

Mr. Keizer, before we go forward, occasionally there are objections from the party who holds the confidential information about a certain party signing.  I take it there are no objections if Mr. Cassan or his friends sign the undertaking, that they can sit through this, or are there?

MR. KEIZER:  Actually, that's something I haven't considered, and I don't have instructions with respect to whether there is issues relating to that, so if that is something I could address after the break?

MR. MILLAR:  Why don't we do that, then?  Why don't we break now?  Is 20 minutes enough?

MR. KEIZER:  Yes.

MR. MILLAR:  Why don't we break and we will come back at ten after 3:00.

--- Recess taken at 2:50 p.m.

--- On resuming at 3:15 p.m. 

MR. MILLAR:  We will go back on the air.

Just to confirm we are now in camera, so unless you are an employee or working for GLPL, a member of Board Staff, or you have signed the undertaking, you should not be here.  Is there anyone who isn't in one of those three categories?

Okay, then I think we can proceed, Mr. Keizer.

MR. KEIZER:  Just first of all, can I confirm, then, that, Mr. Cassan, that the two gentlemen with you today, they have signed the undertaking?

MR. CASSAN:  They have, Charles.

MR. KEIZER:  I think it is important that before the break you had enquired, Mr. Millar, as to whether we had any objection to the parties that were remaining.

I have conferred with GLPL.  There is no objection with respect to those remaining.  But I think it is important, particularly for those that that aren't frequently being involved in processes before this Board, that the gravity of signing the undertaking be reinforced, and that, you know, that it is a significant thing to sign the undertaking and keep in confidence any of the information that may come out of this, whether it is an interim order or a final order with respect to the confidentiality.

I think that is kind of a first feeling.

Then, subject to that, I just have a couple of other just preliminary matters to address before we do begin.

MR. MILLAR:  If I could just follow up on that, that is a good point and thank you, Mr. Keizer.  The Board does take these undertakings very seriously.  In the event they are breached, there are a variety of it remedies, none of which are particularly pleasant, so thank you for reminding the parties that it obviously is meant to be observed.
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MR. KEIZER:  A couple of preliminary points.  Firstly, you will note there is a new gentleman who has joined the panel, and if I could take a moment to introduce that individual.  His name is Bernard Cardinal.  His title is senior manager for taxation.  He works with the financial part of Brookfield Power, which obviously has, you know, a financial and a relationship between Great Lakes Power and Brookfield Power.

And I think if there are issues that get into, or may evolve on -- we weren't sure of the scope of the questions, I guess, and we wanted to make sure we could provide whatever fulsome response we need to, to satisfy Board Staff.  So he is available and there are certain areas that he can participate on, if questions do go in those areas.

The third thing I would like to do is, I am not really going to speak to it, but I think I do want to mark it hopefully as an exhibit.

That is, with the materials that we passed out this morning there was a short legal brief that was provided to participants, and that legal brief is really just a short synopsis of the various regulatory precedents that, I think, have been relied on by this Board and others to the issue of the stand-alone principle related to taxation, and the principle that, you know, benefits are to follow the costs related to determining a tax allowance.

I filed it, I guess, in that we had received from Board Staff a reference to a particular case from the Alberta Energy and Utility Board, and so we wanted to at least take the opportunity to put something on the record of the technical conference as our understanding of that case, and some of the regulatory principles that we believe that this Board has followed.

So I am not going to go through it and argue it or anything like that, especially not on a Friday afternoon at 3:30.

MR. MILLAR:  Why don't we just mark it as an exhibit?

MR. KEIZER:  I should get some points for that at least.

[Laughter]  

MR. KEIZER:  So if we could mark it as an exhibit, that would be much appreciated.

MR. MILLAR:  I think we are at KT1.4 now.
EXHIBIT NO. KT1.4:  LEGAL BRIEF

MR. MILLAR:  Any other preliminary matters, Mr. Keizer?

MR. KEIZER:  I believe that is it for me.

MR. MILLAR:  Okay.  I am going to hand things over to our resident, one of our resident tax experts.  Duncan Skinner will be asking the questions on this issue.

MR. KEIZER:  Sorry.  Do you want to consider continuing the same process, or I leave it in the hands as to Mr. Skinner, how he wants to deal with it, whether he wants me to refer to the questions or he is going to complete his understanding of what he needs to complete.

MR. SKINNER:  Whatever you would like to do.  I can ask the questions that I have outstanding rather than you just read what is in tab 5.

MR. KEIZER:  Perfect.  That's fine with us.

MR. CASSAN:  Before we get started, we don't have a copy of the material.

MR. KEIZER:  Of which material?

MR. CASSAN:  The confidential material.

MR. KEIZER:  That's the other issue, unfortunately, I have to apologize for, throw my mercy on everyone, is that in oversight, I had only had one copy with me when I left.  Unfortunately, we didn't make extra copies, just because it was something that was forgotten, an oversight.

I am not sure how you want to deal with that, whether or not there is questions that are arising from Mr. Skinner's questions and, if that's the case, take a moment for people to be able to deal with that -- or I am not sure how, I mean, how we want to deal with that.

MR. MILLAR:  Is that okay with you, Mr. Cassan?  I don't even know how voluminous the materials are.

MR. KEIZER:  They are about three inches thick.

MR. MILLAR:  Oh.

MR. CASSAN:  I think that is probably the best thing to do, would be to maybe get a copy of that electronically, subsequent.  Then if we have questions, then I can just direct them to your office, Charles, and we can --

MR. MILLAR:  Maybe I would also ask, you can obviously listen in while we go, and if something occurs to you and you can try and ask it today, that's all the better.

MR. KEIZER:  I apologize to the participants.  It is something that we -- just by oversight.  I assume that the same courtesy that we would extend to you, Mr. Cassan, we would also extend to Mr. Harper as well.

MR. HARPER:  That's fine, thanks.

MR. MILLAR:  Okay, why don't we begin?
Questions on income tax


MR. SKINNER:  This morning you made a presentation and you talked about your bundled rates, before you unbundled.  Did you have taxes in the bundled rates?  If so, how were they embedded in those bundled rates?

MR. LAVOIE:  That's actually too bad that Mr. Harmer isn't here, because he probably knows more about that last rate application and his role at Hydro One than myself.

I don't know specifically the answer to that question.  I have to presume the utility was a taxpaying entity before, and because it had a return-on-equity, there had to have been an allowance for tax, but that is an assumption on my part at this point.

MR. SKINNER:  Any idea how to resolve that?

MR. KEIZER:  Well, we can undertake to -- is it possible to, in any way, from past records to determine whether that is the case?

MR. LAVOIE:  I know that there is a rate order that was issued in a prior proceeding from Hydro One that would presumably have a lot of that detail.

MR. SKINNER:  If you wouldn't mind just letting me know how many millions of dollars were embedded in the prior rates for taxes?

MR. LAVOIE:  Sure.

MR. SKINNER:  If you would, please?

MR. MILLAR:  That's JT1.5?


MR. SHIELDS:  1.6.

MR. MILLAR:  1.6.

UNDERTAKING NO. JT1.6:  GLPL TO PROVIDE DOLLAR AMOUNT FOR TAXES EMBEDDED IN PRIOR RATES


MR. SKINNER:  Now, I asked a question in an IR.  The original evidence, Exhibit 4, tab 3, schedule 2, page 1, showed losses in 2005 and 2006.

My question was:  
"If you have tax loss carry-forwards for those two years that are greater than your 2007 income, why do you need a tax allowance in rates?"

And in reply, you said that you accrued, in your financial statements, the 1574 entry, but had not disclosed that in Exhibit 4.  And this morning, I was given an updated schedule.  I don't know if everyone has received this.

MR. KEIZER:  Well, we can pass that out now.

MR. SKINNER:  It now indicates that the accrual is there, and in each year you have an income.  You don't have a loss carry-forward in the revised evidence.

MR. LAVOIE:  That's correct.

MR. SKINNER:  Okay.

MR. KEIZER:  I think the explanation, the greater, more fulsome explanation of that, I think is set out at --just for the record, Board Staff -- in Exhibit 1.1 from today.  It's at Board Staff question 1, at tab 5.

MR. SKINNER:  Tab 5, right.

I am at that page now.  This is page 1 of tab 5.  It's the reply, the second sentence:
"In reporting and computing its tax liability to the Canada Revenue Agency GLPL included these amounts in its income."

I was also given confidential financial statements for the corporation, and I noticed that the accrual that is referred to in the DX statements does appear in the corporate statements.  So that answered one of the questions I had.

I was curious as to why the corporation would anticipate income in a higher tax year, or a higher tax rate tax year and not recognize that income in future years, when we know that the tax rates are declining.  You make another statement on this page:
"GLPL is not proposing to include the recovery of this amount in net income in future years."

It seems counterintuitive that you wouldn't recognize expense and defer income in high tax rate years, and wait for lower tax rate years to recognize that income, especially in light of the federal government now trying to entice Ontario to go down to 10 percent corporate rate for a combined federal Ontario rate of 25 percent.  

I was just wondering if you have a comment about that.  I have some follow-up comments about the 1574 account.

MR. CARDINAL:  I can talk about that.

MR. SKINNER:  Hmm-hmm.

MR. CARDINAL:  I guess our position on that is, with the rate accrual being included in GLPL's corporate legal entity financial statements, we looked at that from -- I guess from a tax point of view.  We looked at the Income Tax Act, and there is no specific provision in the Income Tax Act that deals with, you know, revenue associated with a regulatory asset on that sense.

So, basically, we then looked at you know section 9 as a starting point for us, which basically says that a company has to compute its income based on starting with the profit component, which is usually found in the financial statements, and then adjustments are made to get to the taxable income.

We also in the Income Tax Act, there's paragraph 12.1(b) that talks about any amount receivable in respect of services rendered is included in income, even if the amount hasn't been paid, basically, or received in this case.

We also did some research and we looked at some commentary from Revenue Canada on this, and the commentary that we found is basically what -- CRA's position or the commentary they're giving is, absent any specific provisions, taxable income and accounting should not be different.  

Basically, they're looking at this truer picture concept.  They're saying if it is good for financial statements - which it is included in our audited financial statements, so it was signed-off by external auditors - then it should be in the tax return.  This is Revenue Canada's position.  That position is also consistent with some court cases.  

So with all of those -- I guess those arguments, we at GLPL did not reverse that and take a deduction for it.  So basically we've paid tax on it or included in our taxable income of all of those years, yes.

MR. SKINNER:  Did you take a 21 either M or N reserve against that anticipated income?

MR. CARDINAL:  No, no.

MR. SKINNER:  Okay.  With regards to the financial statements that were submitted, there were financial statements submitted in confidence with -- tax returns that were submitted in confidence for the distribution business, but I just thought I would let you know that those statements are considered public information by the Board.

So any set of financial statements for any distribution utility that is sent to us is considered public and is available in the library.  I wasn't sure if you thought we were holding those confidential, or not.

MR. KEIZER:  These are for GLP distribution only?

MR. SKINNER:  Yes, yes.

MR. KEIZER:  That's understood, that they are.  It's only the GLPL corporate financial statements that are considered to be confidential, given that we have to file  -- provide audited financials as part of the reporting requirements and other things, as well.

MR. SKINNER:  Okay.  In your 2005 financial statements and in prior years, the auditor's report has a qualification.  There's a fourth paragraph.

It reads, in part:   
"These financial statements, which have not been and were not intended to be prepared in accordance with Canadian Generally Accepted Accounting Principles, are solely for the information and use of the directors of Great Lakes Power Limited and the Ontario Energy Board in order to achieve compliance with section 2.1.6."

In the 2006 audited financial statements, that qualification has disappeared, and the auditor's report just says they are in compliance with Canadian Generally Accepted Accounting Principles.

I was wondering if that, in fact, is the case, or was that an oversight by the auditor?

MR. KEIZER:  These are the stand-alone statements you're referring to?

MR. SKINNER:  Yes, the DX.  These are the public documents.

MR. CARDINAL:  To talk to that, I guess -- I guess in the statements you're referring to, the 2005 and previous statements --

MR. SKINNER:  Hmm-hmm.

MR. CARDINAL:  -- why the note was there, I was told, is because basically these statements were prepared for distribution, and in the statements -- no, sorry.  Not in the statements are the future income tax.  They're not included in there.

MR. SKINNER:  Hmm-hmm.

MR. CARDINAL:  Because the future income taxes were not included in the statements, this note was put in.

In 2006 it was realized, I guess by the external auditors, that we do include a note in the financial statements that do talk to the future income taxes.  And, basically, having the note in these statements does make them according to GAAP, so that's why that was taken out, basically.

MR. SKINNER:  Okay, all right.

I have a question about the 2006 audited statements.  There is a current tax payable, in the 2006 column, of $4.5 million. 

Generally, a current liability would be extinguished within 12 months.  In response to -- I am back on page 1 of the handout from this morning, tab 5, page 1.  You replied:

"GLPL as a taxable corporation does not expect to pay taxes in 2007."  

I have a question.  In my own mind, I can't conceive of, if you will not pay tax, how you would have a current tax payable item on your balance sheet.

MR. KEIZER:  Just so we're sure, just so we are keeping it straight, the financial statement that you see the current tax payable appearing on, it is the stand-alone?

MR. SKINNER:  It is the DX, the distribution business, yes, correct.

MR. KEIZER:  DX, okay.  I will let the panel clarify, but I think the comment with respect to GLPL here is GLPL corporate in the answer to the question.

MR. CARDINAL:  Yes, that's correct.

MR. KEIZER:  I just want to be clear that -- what we're referring to.

MR. SKINNER:  The follow-up question is:  You have a current liability.  It reappears again in the 2007 pro formas, but you are not going to pay tax.  How will you extinguish the current liability?  It may just be a disclosure issue, but I'm perplexed by looking at 4-1/2-million dollars on a balance sheet that says it is current liability, which implies you will extinguish it and it is it just rolled forward from year to year in your distribution financial statements.

Is there a way that you are going to extinguish that liability?  

MR. CARDINAL:  Maybe I can address -- I guess from the distribution's point of view, it is a division, so it doesn't pay tax, per se.  But for these stand-alone statements, we do need to compute a -- we do compute a current income tax amount.

So, you know, the credit, if you want, will go onto the balance sheet as a tax payable for these statements here.

Now, if we talk at the GLPL corporate legal entity level, GLPL per se is not taxable in 2007, and the reason that it is not taxable in 2007 is because it has other activities, unrelated to the distribution business, that generated losses that offset this income that's in the distribution stand-alone statements.  And, therefore, that's why there is no tax liability per se at the GLPL level.

MR. SKINNER:  Okay.  It was more the question of you had a qualified opinion because of the future tax item.

MR. CARDINAL:  Yes.

MR. SKINNER:  You now don't have a qualified opinion, but you have a liability that isn't going to go away.  If you follow the train of thought that you have just described, the business will continue to record a current tax charge, and this liability will continue to grow.

So every set of statements we get year over year will just have a higher and higher current tax liability that you will not be paying.

[Witness panel confers]


MR. CARDINAL:  Technically, I mean one way we could extinguish it is by moving it from a tax payable on the balance sheet to an offset against an intercompany account, or an interdivision account, I should say in this case, which would eliminate this tax payable.

The way I see it is that I guess the division generates taxable income and you have another division that creates, you know, losses.  When you combine them together, they offset.

So technically, the distribution division owes this money to the other division, basically, because if is using its tax asset to eliminate its tax liability.

So on the accounting side, how to move it, I'm not sure I'm the right person to talk about that.  But that's the way I see it.

MR. SKINNER:  I just raise it as an item to be considered, because if we roll this forward five years, you could be sitting there with an $8 million liability that you are not going to pay.

MR. CARDINAL:  Agreed.

MR. SKINNER:  It used to be just for our purposes, so we could rationalize it any way we chose, but now you are say continuing it is unqualified opinion and it meets Canadian GAAP.

MR. CARDINAL:  You say it won't be paid.  It might not be paid to Revenue Canada, but it could be paid to another division.

MR. SKINNER:  That's fine.  Thank you.

On the stand-alone principle in your evidence, this is the distribution application evidence, which is on the public record.  It is in the calculation of the capital taxes.

The large corporation tax capital deduction is $50 million.  And the Ontario capital deduction was seven-and-a-half million in 2005, 10 million in 2006 and 12.5 million in 2007.

MR. KEIZER:  You are referring to where?

MR. SKINNER:  I'm sorry.  Exhibit 4, tab 2, schedule 8, page 1.

MR. LAVOIE:  Could you repeat the question?

MR. SKINNER:  Yes.  In this exhibit, in 2005, you show a capital exemption of 13 million 139.4.  In 2005, on a stand-alone basis, I would expect to see a deduction of $50 million, which is the full capital deduction, because you're arguing that you should be treated on a stand-alone basis.  And equally on the Ontario capital tax, it is seven-and-a-half million, 10 million and 12.5 million.

I didn't work on the deferral account, the 1574 deferral account, so I don't know what you have included in that balance.

MR. FAUGHT:  The exemption that you referred to for capital taxes has been prorated between the two regulated divisions of GLPL, that being transmission and distribution, according to the rate base of each of those divisions.

MR. SKINNER:  Mm-hmm.  That suggests, though, that you are not following the stand-alone principle.

MR. SEABROOK:  It's our understanding that that was prescribed by the Board, to treat the exemptions in that manner.

MR. SKINNER:  It has been allowed by the Board.  Like Veridian had four service areas, and originally when they submitted their application for 2002 rates, they took the maximum deduction for each service area, and then they refiled and said, This doesn't make any sense, because that is not the way we file our tax return.

It was just to bring to discussion, this whole issue of stand-alone tends to be something different for each company.  So if you were pure stand-alone, you would take the 50 million deduction, but you are prorating because you are allowed to allocate the 50 million.  And the Ontario capital tax exemption must be prorated based on paid-up taxable capital of the corporations in the group, as I read it.  It is more an observation on the issue of stand-alone that --

MR. LAVOIE:  I think to speak to that point, I certainly recall discussions on this point when it was raised.  When we initially put the evidence together, we had full intentions of doing exactly what you had suggested.

And the guidance issued by the Board, we allocated 
it --

MR. SKINNER:  Both have been done.  The ones that allocate it don't argue the stand-alone principle.  But that's the only point I am trying to make.

MR. LAVOIE:  I guess now that this issue has been raised, we certainly understand why the Board has done what it does has done.

MR. SKINNER:  You will find different decisions for different companies, depending on their makeup.

You are familiar with the Board's RRR requirements?

MR. LAVOIE:  Yes.

MR. SEABROOK:  Yes.

MR. SKINNER:  Under 2.1.8, it says:

"A distributor shall provide in the form and manner required by the Board annually, by July 31st, a reconciliation of regulatory taxes (PILs) approved by the Board for recovery in rates to actual taxes as filed with the taxing authority (i.e., Ministry of Finance) for the preceding calendar year."

Have you ever filed that reconciliation with the Board?  I think it was asked by Wade Frost in his staff IRs under the deferral account section, specifically 1574, with some of the tax issues that were raised there.

Have you ever filed that document?

MR. LAVOIE:  We haven't filed a document that reconciles to a PILs payment.

MR. SKINNER:  No, this says "regulatory taxes (PILs)" so it is either/or.

MR. LAVOIE:  I guess GLP's interpretation of that filing has always been that it applies to PILs-related companies.

MR. SKINNER:  Okay.  The reason I ask the question, there is an adequate evidence in this jurisdiction of the treatment of changes in tax legislation as Z-factors for the other electricity distributors.

This reconciliation has been used by the Board since 2002 to have the utility account for changes in tax legislation, so that as the tax rate declined from 40.62 to 38.62, and it's going to be 33.5 percent in 2008, as these declines have happened and the capital deductions and the capital tax calculations have increased and the rates have changed, there has been a refund to the customer accrued by the utilities that have filed this reconciliation.

I think I heard this morning that in the 1574 account, you have used the 38.62 percent rate, which was the rate in 2002, and you have continued that assumption in the 1574 balance.

Have you accrued a refund to the customers for the retroactive repeal of the large corporation tax, which all of the other utilities have done?

MR. LAVOIE:  I think what you're asking is that there would only have been tax expense contemplated in the original application, in the 1574 amount, because on a zero return-on-equity basis, there is no allowance for tax.

So I think what you are asking is:  In relation to our position on 1574, has there been anything in there that contemplates a reduction in that amount to reflect the difference in tax rates?

MR. SKINNER:  Well, it is more specifically the large corporation tax, which is a tax on capital.  I think in your 2002 rates you did apply for LCT relief, because the threshold was only $10 million at that --

MR. LAVOIE:  In that specific reference?  No.

MR. SKINNER:  So you have something embedded in your rate for large corporation tax recovery.

MR. LAVOIE:  Yes.

MR. SKINNER:  And that would have continued up to January 1, 2006, at which time the LCT was repealed.

MR. LAVOIE:  That's correct.

MR. SKINNER:  So the other utilities have followed the frequently asked questions that the Board issued, along with the simple reconciliation that was submitted, and have recorded a refund to their customers, to the extent of that large corporation tax that was embedded in rates.

So if I understand your answer, you have not done that?  It is not netted in your 1574 balance and it doesn't exist anywhere else?

MR. LAVOIE:  That's correct.

MR. SKINNER:  Do you use account 1562 for anything?  That's a deferral account for taxes up to April 30, 2006.

MR. FAUGHT:  No, we do not.

MR. SKINNER:  Do you use account 1592, which is a deferral account for taxes, from May 1, 2006 forward?

MR. FAUGHT:  No, we do not.

MR. SKINNER:  We have issued instructions that utilities should record a refund to their customers for the first four months of 2006 in 1562 and for the period May 1, 2006 to April 30, 2007 in account 1592.  I just draw that to your attention.

I heard earlier today that you intend to file a cost-of-service application for 2008 rates, 2009 rates and I assume 2010, 2011, and the tax rates are declining.  

Would you be using the new enacted tax rates when you file those applications?

MR. SEABROOK:  Yes.

MR. SKINNER:  I note that the transmission assets are, I think, being transferred from a corporation where they now reside to another corporation, and you have received a Board decision on that; am I correct?

MR. LAVOIE:  The transfer has taken place.

MR. SKINNER:  The assets have been physically -- the ownership of those assets has been...

MR. LAVOIE:  The ownership has --

MR. SKINNER:  Transferred to another entity?

MR. LAVOIE:  That's correct.

MR. SKINNER:  Do you contemplate doing anything like that for the distribution business?

MR. LAVOIE:  There is an intention of the company to do something with respect to the remaining pieces of Great Lakes Power Limited.  In what form, it is not clear yet, but some sort of segregation.

MR. SKINNER:  It makes this easier.  If you have it in a corporation and you actually pay tax, there is costs to be identified.  That's all.

Are you aware of the Ontario tax changes that are not currently enacted, but were identified in December 2007 with respect to retroactive changes back to January 1, 2007?  It's the Ontario capital taxes.  The rate is going to be reduced to 0.225. 

MR. CARDINAL:  Yes, yes.  I am aware.

MR. SKINNER:  Do you plan or would you consider -- maybe I should ask the question a different way.  Would you consider revising your evidence to reflect those tax changes when you file your draft rate order?

MR. SEABROOK:  Yes.

MR. SKINNER:  Just to let you know, in case you haven't read the decisions that have been going out of the Board, Enersource just filed its draft rate order and has recalculated its taxes on the basis of all the currently enacted or soon to be enacted legislation, and most of the other utilities -- in fact, I think the Board has ordered them to file a draft rate order using the currently enacted rates that we know of.

I'm still a little puzzled about the 1574 balance and the recognition of accruals, as you have done, the anticipation of income in years where there is a higher tax rate, and you have given me your answer on that.

What will you do with the income?  Let's assume that the Board gives you an order to clear your 1574 balance over -- I don't know how many years you applied for.  Was it ten years' recovery?

MR. SEABROOK:  Eleven years.

MR. SKINNER:  Eleven years.  So one-eleventh would be recovered each year with a rate rider.  What would you do with that income, from a tax point of view, in your tax return?  Because it will go through the revenue line.


MR. LAVOIE:  It's already travelled through the revenue line.

MR. SKINNER:  What would you plan to do with that rate revenue?

MR. SEABROOK:  Cash collection.

MR. FAUGHT:  It would be a credit against the regulatory asset account set up in the balance sheet.

MR. SKINNER:  Okay.  I think those are all of my questions.  I don't think I dug in to the confidential information.  I still have to look at the statements you gave me in confidence earlier today with the tax return that was submitted a few weeks ago, just to cross-reference the numbers.  So I will do that next week. 

MR. MILLAR:  On that point, was anything that just went onto the transcript confidential?  There was an exhibit.  Actually, we didn't give this a number, I don't think.

MR. KEIZER:  That was the update to table 4.3.1.

MR. MILLAR:  This is confidential; is it not?

MR. KEIZER:  No, it is not.  That is stand-alone distribution.

MR. SKINNER:  It's like a blue sleet.

MR. KEIZER:  If we could file it as an evidence update or we could mark it as --

MR. MILLAR:  Why don't we mark it now, and maybe you could send it to the Board secretary's office.  We'll just make sure it is on -- we'll call it KT1.5.
EXHIBIT NO. KT1.5:  UPDATE TO TABLE 4.3.1.


MR. MILLAR:  If there was nothing confidential just said right now, I would prefer to keep the transcript clean and not require that we issue redacted versions, for example.  Was anything confidential said, or do you need a minute to discuss it?

MR. KEIZER:  Could I actually just take a second?

MR. MILLAR:  Actually, I don't know if Mr. Harper or Mr. -- maybe we should finish all the questions, to the extent there are any more on this, before we make a file determination.  Mr. Harper and Mr. Cassan, did you have any follow-up questions on the taxes issue?

MR. HARPER:  No, not specifically on the taxes issue.  Actually, if you wouldn't mind, just as a related matter, when Mr. Skinner was asking about the recovery of the deferral account.  It just tweaked to me, and -- you know, the implications from a revenue perspective.

That would be a rate rider charge to customers as opposed to something included in revenue requirement that would end up coming back through the RRRP?  It would be a separate -- when you are planning your recovery of that, that would be as a separate rate rider outside of the distribution rates, and, therefore, would be recoverable from customers as opposed to if you include it in the revenue requirement, actually, it would come back out through the RRRP?  

I was trying to clarify whether it was true revenue to the company, or not.

MR. SEABROOK:  It's in Exhibit 9, tab 1, schedule 6 of the prefiled evidence.  We outline the proposed methodology for recovery of the Reg assets, and it would be with a rate rider.  It's an existing rate rider right now.

MR. HARPER:  Thanks.  I was trying to read this quickly, and I figured rather than not getting my question answered, I would ask it next.

MR. MILLAR:  Sounds like all of the questions are over.

In fact, if the only issue left is to determine if this is confidential or not, maybe we can actually close the record now and just have that discussion, and then we can publish the transcript as is appropriate.  

Are there any other matters we had to deal with in terms of questions for witnesses or matters to go on the record?

MR. KEIZER:  I am not aware of any other matters.

MR. MILLAR:  Does anyone else have anything we need to go through with this witness panel?

Okay.  Well, Mr. Keizer, unless there is anything else, why don't we adjourn for the day, and then we can privately discuss whether or not this has to be confidential.


MR. KEIZER:  That's great.  Thank you.

MR. MILLAR:  Okay, thank you, everyone.

--- Whereupon the hearing adjourned at 3:52 p.m.



















PAGE  

